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Question Id : 87827023936 Question Type : COMPREHENSION Sub Question Shuffling Allowed

: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Question Numbers : (1 to 5)

Question Label : Comprehension

The following table shows the number of buildings constructed in six different towns A - F of a
state S over the seven years from 2016-2022. Based on the data in the table, answer the questions

that follow.
Town-wise Details of Buildings Constructed.

Yeart o6 o0t | 2018 | 2019 | 020 | 2001 | 2022

Town
A 13000 | 3160 | 3220 | 5272 | 3300 | 3320 | 3400

2500 | 2568 | 2640 | 2670 | 2792 | 2800 | 2900
2960 | 3000 | 3090 | 3100 | 3192 | 3200 | 3268
5448 | 3500 | 3600 | 3640 | 3664 | 3760 | 3792
2040 | 2100 | 2200 | 2230 | 2320 | 2350 | 2580
2277 | 2380 | 2460 | 2480 | 2530 | 2560 | 2588
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Sub questions

Question Number : 1 Question Id : 87827023937 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

Across the state 5, the total number of buildings constructed in 2016 is approximately
% of the total number of buildings constructed in 2018 ?

Options :

87827094541. 1
87827094542. 2
87827094543. 3

87827094544. 4

Question Number : 2 Question Id : 87827023938 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

What is the total number of buildings constructed in Town B over all the seven years ?
(1) 17870

) 18780

) 17780

) 18870
Options:
87827094545. 1
87827094546. 2
87827094547. 3

87827094548. 4



Question Number : 3 Question Id : 87827023939 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0

What is the percentage increase in the number of buildings constructed in Town D in 2018 with
reference to the previous vear ?

(1) 38 %

(2) 28 %

(3) 48 %

(4) 4%
Options :
87827094549. 1
87827094550. 2
87827094551. 3

87827094552. 4

Question Number : 4 Question Id : 87827023940 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

[n the context of towns E and F together, what is the difference between the number of buildings
constructed in 2021 and that in 2017 ?

1) 630

) 830
) 430
4 410

H=

Options :
87827094553. 1
87827094554, 2

87827094555. 3

87827094556. 4



Question Number : 5 Question Id : 87827023941 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0

Total number of buildings constructed over the years from 2020 to 2022 is more than 8500 in
exactly towns,

1) 2
Q) 3
3 4
4 5
Options :

87827094557. 1
87827094558. 2
87827094559. 3

87827094560. 4

Question Id : 87827023936 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Question Numbers : (1 to 5)

Question Label : Comprehension
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2016 | 2017 | 2018 | 2019 | 2020 | 2021 | 2022

3000 | 3160 | 5220 | 3272 | 3300 | 3320 | 3400
2500 | 2568 | 2640 | 2670 | 2792 | 2800 | 2900
2960 | 3000 | 3090 | 3100 | 3192 | 3200 | 3268
3448 | 3500 | 3600 | 3640 | 3604 | 3760 | 3792
2040 | 2100 | 2200 | 2250 | 2320 | 2550 | 2380
2072 | 2580 | 2460 | 2480 | 2530 | 2560 | 2588
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Sub questions

Question Number : 1 Question Id : 87827023937 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

S T ¥, 2016 H R s 1 et e 2018  F41 e ot i ) o el W (%) 2
1) 81

) 94
) 84
§) 74

2
3
Options :

87827094541. 1
87827094542. 2

87827094543. 3

87827094544. 4

Question Number : 2 Question Id : 87827023938 Question Type : MCQ Option Shuffling : No Is



Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

TR B H 9 guf | fafdd el =t Fe1 den oo 22

(1) 17870

(2) 18780
(3) 17780
(4) 18870
Options :

87827094545. 1
87827094546. 2
87827094547. 3

87827094548. 4

Question Number : 3 Question Id : 87827023939 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

TR D ¥ 2018  fAftq el i wen & a au A qorn A fre wawd 9fg g R 7
(1) 385 %

(2) 285 %
(3) 485 %
(4) 4%
Options:
87827094549. 1
87827094550. 2
87827094551. 3
87827094552. 4

Question Number : 4 Question Id : 87827023940 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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Options :

87827094553. 1
87827094554. 2
87827094555. 3
87827094556. 4

Question Number : 5 Question Id : 87827023941 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options:

87827094557. 1
87827094558. 2
87827094559. 3
87827094560. 4

Sub-Section Number : 2
Sub-Section Id : 8782701050

Question Shuffling Allowed : Yes



Is Section Default? : null

Question Number : 6 Question Id : 87827023942 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

Which collaborative ICT tool allows user to create digital bulletin boards to share and gather
information ?

(1) X-mind
(2) Padlet

(3) Book creator
(4) Plotagon
Options :
87827094561. 1
87827094562. 2
87827094563. 3

87827094564. 4

Question Number : 6 Question Id : 87827023942 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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Options :
87827094561. 1



87827094562. 2
87827094563. 3

87827094564. 4

Question Number : 7 Question Id : 87827023943 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0

Given below are two statements :

Statement (1) : - In Round-Robin cooperative learning strategy, students work together to achieve
a common goal or complete a task,

Statement (1) : In group investigation cooperative learning strategy, students take turns sharing
their ideas, thoughts or solutions within their group.

In the light of the above statements, choose the most appropriate answer from the options given
below :

(1) Both Statement I and Statement II are correct
2

2
(3) Statement Iis correct but Statement II is incorrect
4

Both Statement [ and Statement II are incorrect

Statement I 1s mcorrect but Statement I1 is correct

Options :

87827094565. 1
87827094566. 2
87827094567. 3

87827094568. 4

Question Number : 7 Question Id : 87827023943 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

87827094565. 1
87827094566. 2
87827094567. 3
87827094568. 4

Question Number : 8 Question Id : 87827023944 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



Swayam Prabha channel (7 - Kautilya is related to which of the following subjects ?
A)  Economics

B) Library Science

D) Finance

E) Mathematics

Choose the correct answer from the options given below :
(1) (B), (D)and (E) Only

(2) (C)and (E) Only

(3) (A), (C) and (D) Only

) (8) () and (D) Only

Options:

(
(
(C) Commerce
(
(

87827094569. 1
87827094570. 2
87827094571. 3

87827094572. 4

Question Number : 8 Question Id : 87827023944 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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Options :

87827094569. 1

87827094570. 2

87827094571. 3
87827094572. 4

Question Number : 9 Question Id : 87827023945 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

[n which strategy of cooperative learning, students are separated into an inner and outer circle
(In the inner circle, students have a discussion and students in the outer circle Listen to the
discussion) ?

(1) Snow ball

(2) Fishbowl

(3) Jigsaw

(4)  Think-pair-share

Options :



87827094573. 1
87827094574. 2
87827094575. 3

87827094576. 4

Question Number : 9 Question Id : 87827023945 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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Options :

87827094573. 1
87827094574. 2
87827094575. 3

87827094576. 4

Question Number : 10 Question Id : 87827023946 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



Which of the following are the examples of Information Development Model ?
A)  Self Awareness Model

B) Gagne's Information Model

(
(
(C) Jerome Bruner's Model
(D) Schuman’'s Model

(E)  Group Investigation Model

Choose the correct answer from the options given below :
(1) (A) (D) and (E) Only

(2) (B)and (D) Only

(3)  (B), () and (D) Only

(4) (A4) (€ and () Only

Options:

87827094577. 1

87827094578, 2

87827094579. 3

87827094580. 4

Question Number : 10 Question Id : 87827023946 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options:

87827094577. 1
87827094578. 2
87827094579. 3

87827094580. 4

Question Number : 11 Question Id : 87827023947 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Given below are two statements :

Statement (1) : The process of deduction involves drawing generalizable inferences out of
observations.

Statement (II) : Positivism advocates the application of the methods of the natural sciences to the
study of social reality.

[n the light of the above statements, choose the most appropriate answer from the options given
below :

(1) Both Statement I and Statement I are correct
2

Y
(3) Statement I s correct but Statement II is incorrect
4

Both Statement [ and Statement II are mcorrect

Statement I is incorrect but Statement II is correct
Options:

87827094581. 1

87827094582. 2

87827094583. 3

87827094584. 4

Question Number : 11 Question Id : 87827023947 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

87827094581. 1
87827094582. 2
87827094583. 3

87827094584. 4

Question Number : 12 Question Id : 87827023948 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Identify the threats to the internal validity of an investigation :
(A) History

(B) Instrumentation

(C) Maturation

Choose the correct answer from the options given below :

(1) (A) and (B) Only

(2) (B) and (C) Only
(3) (A)and (C) Only
(4) (A), (B)and (C)
Options:

87827094585. 1
87827094586. 2
87827094587. 3

87827094588. 4

Question Number : 12 Question Id : 87827023948 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options:

87827094585. 1
87827094586. 2
87827094587. 3
87827094588. 4

Question Number : 13 Question Id : 87827023949 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 2 Wrong Marks : 0

Given below are two statements :

Statement (1) : Pearson's coefficient of correlation r' is a very useful measure of the strength and
direction of the relationship between two nominal variables.

Statement (I1) : Pearson’s coefficient of correlation ‘1’ always lies between 0 and 1.

In the light of the above statements, choose the most appropriate answer from the options given
below :

(1) Both Statement I and Statement II are correct

(2) Both Statement I and Statement II are incorrect
(3) Statement I is correct but Statement I1 is incorrect
[

4)  Statement I s incorrect but Statement I s correct



Options :

87827094589. 1
87827094590. 2
87827094591. 3

87827094592. 4

Question Number : 13 Question Id : 87827023949 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

87827094589. 1

87827094590. 2

87827094591. 3

87827094592. 4

Question Number : 14 Question Id : 87827023950 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Which of the following refers toa method of sampling in which a core group of participants who
are initially sampled for a research study recruit or recommend other potential participants ?

(1) Simple random sampling
(2) Snowball sampling

(3) Quota sampling

(4) Stratified random sampling
Options :
87827094593. 1
87827094594. 2
87827094595. 3

87827094596. 4

Question Number : 14 Question Id : 87827023950 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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Options :

87827094593. 1
87827094594. 2
87827094595. 3
87827094596. 4

Question Number : 15 Question Id : 87827023951 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A



Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Given below are two statements :

Statement (1) :  According to UGC regulations 2018 on Prevention of Plagiarism, a student is
tequired to give anundertaking while submitting a thesis, stating that the document
is his/her original work which is free from any plagiarism.

Statement (1) : According to UGC Regulations 2018 on Prevention of Plagiarism, the research
supervisor is not required to certify that the work done by the researcher under
himy/her is plagiarism free.

In the light of the above statements, choose the most appropriate answer from the options given

below :

(1) Both Statement I and Statement II are correct

2

2
(3) Statement I s correct but Statement II is incorrect
4

Both Statement [ and Statement II are incorrect

Statement I is incorrect but Statement II is correct

Options :

87827094597. 1
87827094598. 2
87827094599. 3
87827094600. 4

Question Number : 15 Question Id : 87827023951 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



A Q) A g

O (1) eI =R o o i el e 2018 o ST, Frenet a1 07 0o el
o P U T A 2 1 o Yo S 4 2 oA o e ) e
B |

O (I1) : ferh =) o e 7 o fom, 2018 % ST, Y lh 1 7 I e
) SR T & & o VM R0 Sk oA o T A et R 9 R €

TR % el H, 71 10 0 Forred 9 TR R0 S0 1 9

Options:

87827094597. 1
87827094598. 2
87827094599. 3

87827094600. 4

Question Number : 16 Question Id : 87827023952 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

In conversations, relevancy maxim means rnaking :

(1) Metaphoric remarks

(2) Allusions

(3) Pertinent comments

(4) Rudimentary comments
Options :

87827094601. 1

87827094602. 2



87827094603. 3

87827094604. 4

Question Number : 16 Question Id : 87827023952 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :
87827094601. 1
87827094602. 2

87827094603. 3

87827094604. 4

Question Number : 17 Question Id : 87827023953 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

Failure to understand the cultural environment can lead to :
(1) Information richness
2

(2)  Exhibitionism
(3) High-brow communication
(4)

4 Miscommunication
Options :
87827094605. 1

87827094606. 2



87827094607. 3

87827094608. 4

Question Number : 17 Question Id : 87827023953 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

87827094605. 1
87827094606. 2
87827094607. 3

87827094608. 4

Question Number : 18 Question Id : 87827023954 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



The Buddhist mode of inter-personal communication emphasises :
A) Unfettered use of language

(

(B) Unintelligible moral frames

(C) Symmetrical relations

(D) Consensus through interaction

(E) Verifiability of communication

Choose the correct answer from the options given below :
(1) (A), (B) and (C) Only

(2) (B), (C) and (D) Only
(3) (O, (D) and (E) Onl

(4) (A), (B) and (E) Dnly,r
Options:

878270946009. 1
87827094610. 2
87827094611. 3

87827094612. 4

Question Number : 18 Question Id : 87827023954 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

878270946009. 1
87827094610. 2
87827094611. 3

87827094612. 4

Question Number : 19 Question Id : 87827023955 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Given below are two statements :
Statement (1) : Paralinguistic features express emotions and communicate personality traits.

Statement (1) : The subtle use of vocal inflections can provide special significance to verbal
Messages.

In the light of the above statements, choose the most appropriate answer from the options given
below :

(1) Both Statement I and Statement II are correct

(2) Both Statement I and Statement II are incorrect
(3) Statement 15 correct but Statement II is incorrect
(

4)  Statement I s incorrect but Statement I s correct

Options:

87827094613. 1
87827094614. 2
87827094615. 3
87827094616. 4

Question Number : 19 Question Id : 87827023955 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

@ o feu g

HO (1) : I feriod el <1 e Rl € iR S 3 o g R R
KU (1) : Ao TR o forseqm) i wifier 5wl 41 fadhy wea ¢ 9ok €
T e o it W, el feu U el 9 Warw UG F A A I
(1) FOAT S0 FOR 1S 7 2

(2) IR Ko 1 G Terd &

(3) FUTIHEI 2, i o 17T &

(4) TR 2, W Fo 11961 ¢

Options :



87827094613. 1
87827094614. 2
87827094615. 3

87827094616. 4

Question Number : 20 Question Id : 87827023956 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 2 Wrong Marks : 0
Match List - T with List - II.
List - I List - II
(Type of meta communications) ~ (Description/Example)

(A) Explicit () Anaggressive gesture modified with a smile

(B) Implicit () Comments on others communication behaviour
(C) Verbal () Sarcastic remarks

(D) Non-verbal (IV) Comments about non-verbal behaviour

Choose the correct answer from the options given below :

(1) (AH), (BHID, (CH{I), (DHIV)

(2) (AL, (B-{IID), (CHIV), (D)D)
(3) (AR, (B)-1V), (G0, (DKL)
(&) (AFV), (B}, (), (D))
Options :

87827094617. 1
87827094618. 2
87827094619. 3

87827094620. 4

Question Number : 20 Question Id : 87827023956 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



Telt-1 o WY Gell-11 &1 foer i .

Toit-1 -1
(fy-wywor o bW ) (0T )

(A) TR () e & T adell T Uk S S
(B) dfifed () 571 T o FYo 7R R fewfir

(©) ?nfﬁaa (I11) S Sferat

(D) TR-mfee (V) TR-ufeceh e o ai H feofral

19 feu T forehedl & § WE I A1 T HIC

(1) (A}, (B)-(I), (CHII, (D}IV)

(2)  (A)ID), (B)-(ImI), (C)-(IV), (D)-(T

(3)  (A)-(IID), (B)-(IV), (O)-(T), (D)-(I)

(4)  (A)(IV), (B)-(D), (O, (D)-(m)

Options :

87827094617. 1
87827094618. 2
87827094619. 3
87827094620. 4

Question Number : 21 Question Id : 87827023957 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

A milkman buys 20 litres of milk from a dairy at the cost of Rs. 50 per litre, He also purchases some
mineral water at the rate of Rs 20 per litre and adds it to the milk. He then sells the adulterated

milk at the rate of Rs 60 per litre and makes a profit of Rs 400. What is the amount of water he
added to the milk ?

(1) 10litre
() 8litre
(3) 5 litre
(4) 4 litre



Options :

87827094621. 1
87827094622. 2
87827094623. 3

87827094624. 4

Question Number : 21 Question Id : 87827023957 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

T e <A % 50 YT el o e § 20 it g e 2| 9 €20 W et &l < ¥ o e
i ¥ e & o g8 gt o o & €1 Ao o 91 %60 W i < 9 o R 2400 T
St e | S 3 ot e W o e o)

10 et

Options:

87827094621. 1
87827094622. 2
87827094623. 3

87827094624. 4

Question Number : 22 Question Id : 87827023958 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Identify the correct sequence of letters which will complete the following letter series.
aabcd - - - bedbe - - - dedab - - -

(1) abaabcedd
(2) abcabacdd
(3) abaabdcdd
(4) abcadbbed
Options:

87827094625. 1
87827094626. 2
87827094627. 3

87827094628. 4

Question Number : 22 Question Id : 87827023958 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
firet 1em e &1 qof e o foTu S1eRi & & STHY 1 A e

aabed - - - bedbe - - - dedab - - -
(1) abaabcedd

(2) abcabacdd
(3) abaabdcdd
(4) abcadbbed
Options :
87827094625. 1
87827094626. 2
87827094627. 3

87827094628. 4

Question Number : 23 Question Id : 87827023959 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0



Correct Marks : 2 Wrong Marks : 0

Total monthly salary of a couple (husband and wife) is ¥ 2.0 lakh. Their salaries are in the ratio of
5:3. It husband and wife spend 40 % and 20 % of their salaries, respectively, what is the ratio of
their savings ?

() 3:2

(2] i
(3) 5:4
( 1

2 1 O

4
Options :

87827094629. 1
87827094630. 2
87827094631. 3

87827094632. 4

Question Number : 23 Question Id : 87827023959 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

T 70 <01 (90 o ) 8 ot TR 070 2 2.0 7 81 7 o 4 W 5:3 81 e ofg & ol
S-S0 7 1 O 40 % 920 % 5P R 8 ) IR 9 4 9 N €7
(1)

2
3
4

3.
358
4

5T B R |

)
)
)

e B & 5 |

Options :

87827094629. 1
87827094630. 2
87827094631. 3

87827094632. 4

Question Number : 24 Question Id : 87827023960 Question Type : MCQ Option Shuffling : No



Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

In a certain coding scheme :

‘Family values are important’ is written as “pa, ya, si, sa’
"Values are generally contagious’ is written as “ya, da, ja, sa’
‘Some diseases are mntagious’ is written as ‘ka, da, sa, ro’
What are the codes for ‘Contagious’ and “Values' ?

(1) da, sa

(2) da, si
(3) ka, ya
(4) da, ya
Options :

87827094633. 1
87827094634. 2
87827094635. 3

87827094636. 4

Question Number : 24 Question Id : 87827023960 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



T e @hiH 1,

“iftenfier ge mecyt € w1, W % w9 for 9w g
"I WG |G & 1, 1 S, 91 ok w9 H foran S e,
‘o T wighies & 1, @, 9@, ' % w9 foran g,
‘giafie’ 9 ‘gea’ % fau aF | Fe 77

(1) @&
(2) @, i
(3) LA
(4) T @
Options :

87827094633. 1
87827094634. 2
87827094635. 3

87827094636. 4

Question Number : 25 Question Id : 87827023961 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

What is the next term in the fu::llc:-wing number series ?
o Tl 0. B P e

(1) 176
(2) 155
(3) 142
(4) 186

Options :

87827094637. 1
87827094638. 2
87827094639. 3
87827094640. 4



Question Number : 25 Question Id : 87827023961 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

7 o *jEen § o1 ug R W T ?
3,14, 39, 84, ?, - -

(1) 176

(2) 155

(3) 142

(4) 186
Options :

87827094637. 1
87827094638. 2
87827094639. 3

87827094640. 4

Question Number : 26 Question Id : 87827023962 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Which of the following is arranged in order of increasing denotation ?
(1) Cow, bovine, mammal, vertebrate, animal
(2) Mammal, Vertebrate, bovine, animal, cow
(3) Vertebrate, animal, mammal, bovine, cow
(4)

4)  Animal, Vertebrate, mammal, bovine, cow

Options:

87827094641. 1
87827094642. 2
87827094643. 3

87827094644. 4



Question Number : 26 Question Id : 87827023962 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

frefefad § 9 #19 9 SE (Ted gu) a%ad & TRy § oraferd & 7
(1) T, TSI, SO, Feh, 79
(2) EITRH, HERT, ST, T, T
(3)  RITERI, I, YR, ST, T
(4) T, RO, WY, TSI, T
Options :
87827094641. 1
87827094642. 2

87827094643. 3

87827094644. 4

Question Number : 27 Question Id : 87827023963 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 2 Wrong Marks : 0

Given below are two statements :
Statement () :  Truth and falsehood are attributes of individual propositions.
Statement (I1) : Validity can be attributed to any single proposition by itself.

I the light of the above statements, choose the most appropriate answer from the options given
below :

(1) Both Statement I and Statement II are correct
2
3
(

Both Statement [ and Statement II are incorrect

4

)
) Statement I is correct but Statement II i incorrect
) Statement I is incorrect but Statement I is correct

Options:



87827094645. 1
87827094646. 2
87827094647. 3

87827094648. 4

Question Number : 27 Question Id : 87827023963 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

A ¢ oA feu U g

T (1) : T U6 7 e Yiewtad & €

oM (1) : 3w B @ el ft ook ot o o 2 e €

IR Y o Sf1clh H, el T 70 foehedi o § Hore SR ST ol 9 I
(1) e 3R HoW 11 3H T &

(2) R 1R HOR 11 S Terd ¢

(3) HUTIHEI &, wifehd ho 11777 &

(4) YT &, Wi Ho 1 He &

Options :

87827094645. 1
87827094646. 2
87827094647. 3

87827094648. 4

Question Number : 28 Question Id : 87827023964 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



Which fallacy is committed in the following argument ?

“The universe must be spherical in form because all its constituent parts are spherical in form” ?
(1) Circular argument
(2) Red herring
(3) Slippery slope
¢

4) - Fallacy of composition

Options:

87827094649. 1
87827094650. 2
87827094651. 3

87827094652. 4

Question Number : 28 Question Id : 87827023964 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Frettan 7 % B 1 - T ¢ - e H e TR & <10 i 3066 94 e &
R e

Options :

87827094649. 1
87827094650. 2
87827094651. 3
87827094652. 4

Question Number : 29 Question Id : 87827023965 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A



Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Given below are two statements :

Statement (I) : The statement - “Pradeep’s mind is a cave : deep, dark and full of bats” is an
analogy which is only descriptive in nature.

Statement (II) : The statement - “Pradeep’s mind is a cave ; deep, dark and full of bats” is an
analogy which confains an argument,

In the light of the above statements, choose the most appropriate answer from the options given
below :

(1) Both Statement I and Statement II are correct
2

2
(3) Statement Iis correct but Statement II is incorrect
4

Both Statement [ and Statement II are incorrect

Statement I is incorrect but Statement II is correct

Options :

87827094653. 1
87827094654. 2
87827094655. 3
87827094656. 4

Question Number : 29 Question Id : 87827023965 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



e ) F foU T g

H () T, T, SR 0 T QR T ¢ 9% R TGV €
Wﬁﬂ:ﬁﬂ@ﬂfﬂ%ﬁl

O (11): "W 1 T, TR, SHE 90 TS N o 7 T € 1" 7 R WewAr & for
e fiefem

TR % el H, 77 0 70 Foereet o 9 T a1 90 1 9

(1) FRIERFRTH T2

(2) FORER B G T €

() HRIT & o TR0 ¢

(&) FERITR &, o R &

Options :

87827094653. 1
87827094654. 2
87827094655. 3

87827094656. 4

Question Number : 30 Question Id : 87827023966 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 2 Wrong Marks : 0

Given below are two statements :
Statement (1) : Nyaya syllogism has three propositions
Statement (I1) : Aristotelian syllogism has five propositions

I the light of the above statements, choose the most appropriate answer from the options given
below :

(1) Both Statement I and Statement II are correct
2

(2) Both Statement I and Statement II are incorrect
(3) Statement 1is correct but Statement II is incorrect
g

4)  Statement I s incorrect but Statement II is correct



Options :

87827094657. 1
87827094658. 2
87827094659. 3
87827094660. 4

Question Number : 30 Question Id : 87827023966 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

A g F TR

®UF (1) : AHEH 2§ A vt g €
oM (1) : SIS e H vy 2 €|
IR F4 % e H, Al 500 foehedi § | Ward e I A T HIC
(1) eI S et 11 3 T &

(2) o1 SR B 11 G Terd ¢

(3) YRR 2, elfer B 11 7erd ¢

(4) IR &, i Fo I H &
Options :

87827094657. 1

87827094658. 2

87827094659. 3
87827094660. 4

Question Number : 31 Question Id : 87827023967 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Which of the following is an online store house of all academic awards like certificates, diplomas,
degrees, marksheets etc. ?

(1) SWAYAM

(2) National Digital Library
(

(

)
3) National Academic Library
)

4)  National Academic Depository

Options:

87827094661. 1
87827094662. 2
87827094663. 3

87827094664. 4

Question Number : 31 Question Id : 87827023967 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

Foes 9 8 oo o, fevcon, T, e, o 0 e e, el 1 T e e
Tt

(1) (T o] U )

() TR s YR

() T SR

(4) T T FRATTT

Options :

87827094661. 1
87827094662. 2
87827094663. 3
87827094664. 4

Question Number : 32 Question Id : 87827023968 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A



Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
[dentify the correct sequence of the missing nits of data A-D that can be used to represent the size
of a file, as it changes in size. The units of data increase in size from smallest to largest as given
below.

bit

tera Byte (TB)
(A) byte
(B) gigabyte (GB)
(C) megabyte (MB)
(D) nibble
Choose the correct answer from the options given below :
(1) (O (A) (€ 6)

Q) (4., ), ()
(3) (D) (4) ), (C)
(4 (4).0) (€, B
Options :

87827094665. 1
87827094666. 2
87827094667. 3
87827094668. 4

Question Number : 32 Question Id : 87827023968 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options:

87827094665. 1
87827094666. 2
87827094667. 3

87827094668. 4

Question Number : 33 Question Id : 87827023969 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Given below are two statements :

Statement (1) : Wiki is usually represented in reverse chronological order, whereas blog has a
structure determined by content and users.

Statement (I1) : Blog is usually personal/someone’s opinion, whereas a wiki is usually objective.

In the light of the above statements, choose the most appropriate answer from the options given
below :

(1) Both Statement I and Statement II are correct

(2) Both Statement I and Statement II are incorrect
(3) Statement 15 correct but Statement II is incorrect
(

4)  Statement 115 incorrect but Statement I1 is correct

Options:

87827094669. 1
87827094670. 2
87827094671.3
87827094672. 4

Question Number : 33 Question Id : 87827023969 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

87827094669. 1
87827094670. 2
87827094671.3

87827094672. 4

Question Number : 34 Question Id : 87827023970 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Which of the following statements A-E about firewalls in computer networks are true ?
) Firewalls are only available as hardware devices and only examine traffic entering a network,

B) Firewalls allow a user to set rules for network traffic.

D) Firewalls backup all data that is transmitted around a network.

(A

(

(C) TFirewalls will automatically stop all malicious trafic.

(

(E) Firewalls can be used to block access to certain websites.

Choose the correct answer from the options given below :
1) @) O ()Only

(2 (B)and (£} Onl

() (@) 0)and [ )ODIY
(4) (A)and (C) Only
Options:
87827094673. 1
87827094674, 2
87827094675. 3

87827094676. 4

Question Number : 34 Question Id : 87827023970 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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(1) (4) (C) 3 (0
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Options:

(
(
(
(

87827094673. 1
87827094674. 2
87827094675. 3

87827094676. 4

Question Number : 35 Question Id : 87827023971 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Match List - I with List - IL
List -1 List- 11
(Automatic data capture method)  (Description)

(A) OCR ()  System that reads pencil or pen marks on a piece of
paper in pre-determined positions

(B) OMR () System that reads characters printed in a special ink,
for example, the characters written at the bottom of
Bank cheque

(C) RFD (M) Reading data directly from hard copy and
converting into computer-readable form

(D) MICR (IV) Use of minute-electronic devices (containing
mictochip and antenna) that can read from distances
upto few minutes

Choose the correct answer from the options given below :

(1) (AHD, (3K, (-, (M)

(@) (A, BHI), (CH), D)

3) (AW, (B4, (CHIV), DK

[4) (AHV), (M, CHD, DK

Options :

87827094677. 1
87827094678. 2
87827094679. 3

87827094680. 4

Question Number : 35 Question Id : 87827023971 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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(1) (A-{D), (BK{I), (C-{I, (DHIV)

(2) (AHI), (B-IV), (CHI, (DH()

(3) (KT, (B}, (CHIV), (DHT)

(4 (AHIV), (BM{ID, (C)(D) (DM{I)

Options:

87827094677. 1
87827094678. 2
87827094679. 3
87827094680. 4

Question Number : 36 Question Id : 87827023972 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Given below are two statements :
Statement (1) : The absence of fluoride in drinking water causes tooth decay.

Statement (I1) : Absence of fluoride in drinking water causes mottling of teeth also known as
dental fluorosis.

In the light of the above statements, choose the most appropriate answer from the options given
below :

(1) Both Statement I and Statement II are correct

(2) Both Statement I and Statement II are incorrect
(3) Statement 15 correct but Statement II is incorrect
(

4)  Statement I s incorrect but Statement I s correct

Options:

87827094681. 1
87827094682. 2
87827094683. 3

87827094684. 4

Question Number : 36 Question Id : 87827023972 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

87827094681. 1
87827094682. 2
87827094683. 3

87827094684. 4

Question Number : 37 Question Id : 87827023973 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 2 Wrong Marks : 0

Given below are two statements :

Statement (1) :  Under Montreal protocol developed and developing nations have differentiated
responsibilities,

Statement (1) : Under Kigali amendment of Montreal protocol, ChloroFhuoroCarbons (CFCs) and
HydroChloroFluoroCarbons (HCFCs) were to be phased out.

[n the light of the above statements, choose the most appropriate answer from the options given
below :

(1) Both Statement [ and Statement II are correct

2
3
(

Both Statement I and Statement II are incorrect

4

)
) Statement 1 is correct but Statement II is incorrect
) Statement I is incorrect but Statement I is correct

Options:

87827094685. 1
87827094686. 2
87827094687. 3

87827094688. 4

Question Number : 37 Question Id : 87827023973 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options:

87827094685. 1
87827094686. 2
87827094687. 3

87827094688. 4

Question Number : 38 Question Id : 87827023974 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 2 Wrong Marks : 0

Given below are two statements :

Statement (1) : Naturally occurring Volatile Organic Compounds (VOCs) generally oxidize to
form Carbonmonoxide (CO) and Carbondioxide (CO,)

Statement (I1) : Anthropogenically emitted VOCs play an important role in the formation of smog

In the light of the above statements, choose the most appropriate answer from the options given
below :

(1) Both Statement I and Statement II are correct

(2) Both Statement I and Statement II are incorrect
(3) Statement I is correct but Statement I1 is incorrect
[

4)  Statement I s incorrect but Statement I s correct



Options :

87827094689. 1
87827094690. 2
87827094691. 3

87827094692. 4

Question Number : 38 Question Id : 87827023974 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

87827094689. 1

87827094690. 2

87827094691. 3

87827094692. 4

Question Number : 39 Question Id : 87827023975 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0



Correct Marks : 2 Wrong Marks : 0

Which of the following gases has the maximum contribution to Global Warming ?
(1)  Chlorofluorocarbons (CECs)

(2) Methane (CH,)

(3) Sulfur Hexa fluoride (SF)

(4)  Carbon dioxide (CO,)

Options :

87827094693. 1

87827094694. 2

87827094695. 3

87827094696. 4

Question Number : 39 Question Id : 87827023975 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0
frefafed 9 9 forg 19 =1 AR afveas v | Faifues € 2
(1) FARREEA (9 T )
(2) e (CH,)
(3) HOHL T FANEE (SF)
(4) FHEA SEAFES (CO,)
Options :
87827094693. 1
87827094694. 2

87827094695. 3

87827094696. 4

Question Number : 40 Question Id : 87827023976 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0



Correct Marks : 2 Wrong Marks : 0
Which of the following are true about Persistent Organic Pollutants (POPs) ?
A) They are extremely widespread and occur from tropics to Arctic.

B) They often accumulate in food webs and reach toxic concentrations.

D) They are widely used as flame retardants and in deodrants.

(

(

(C) Volatile Organjc Compounds (VOCs) are examples of POPs,
(

E

—

Some chemicals used in making non-stick, waterproof and stain-resistant products are
categorized ag POPs,

Choose the correct answer from the options given below :
(1) (A)(B) (C)and (D) OIﬂY

(2) (), (€), (D) and (E) Onl

(3) (&), (B), (D) end (£ )Onlv
(4 (4), (C)and (E) Onl
Options :

87827094697. 1
87827094698. 2
87827094699. 3

87827094700. 4

Question Number : 40 Question Id : 87827023976 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

87827094697. 1
87827094698. 2
87827094699. 3

87827094700. 4

Question Number : 41 Question Id : 87827023977 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

The Hindu College in Banares set up by Annie Besant before Independence proposed to impart
(1)  Physical education

(2) Religious and moral education

(3) Western education

(4) Medical education

Options :

87827094701. 1



87827094702. 2
87827094703. 3

87827094704. 4

Question Number : 41 Question Id : 87827023977 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

87827094701. 1
87827094702. 2
87827094703. 3

87827094704. 4

Question Number : 42 Question Id : 87827023978 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Which one of the following Universities was the largest in the initial years of Lord Curzon's regime ?
(1) Calcutta

(2) Madras
(3) Bombay
(4)  Punjab

Options:

87827094705. 1



87827094706. 2
87827094707. 3

87827094708. 4

Question Number : 42 Question Id : 87827023978 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :
87827094705. 1
87827094706. 2

87827094707. 3
87827094708. 4

Question Number : 43 Question Id : 87827023979 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Which of the following were the recommendations of the first educational conference held at
Shimla in 1901 ?

A)  Appointment of only Indians as Vice-Chancellors of Indian Universities
B) Importance to teaching and research in Sanskrit

(
(
(C) A thorough reform of Indian Universities
(D) Appointment of a Director-General of Indian education
(E) Co-ordination of rules for examinations

Choose the correct answer from the options given below :

(1) (A) (B and (C)Only

2) () (C)and (D) Only

(3) (C), (D) and (E) Only

4 (4) () and 5 Ol

Options :

878270947009. 1
87827094710. 2
87827094711.3

87827094712. 4

Question Number : 43 Question Id : 87827023979 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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(2) A (B), (C) ¥ (D)
(3) A (), (D) ¥ (B)
(4) A (A), (B) 4 (B)
Options :

87827094709. 1
87827094710. 2

87827094711. 3

87827094712. 4

Question Number : 44 Question Id : 87827023980 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Which of the following are the administrative reforms in universities suggested by the National
Knowledge Commission ?

(A) Appointment of vice-chancellors based on their academic and administrative credentials
(B) De-politicisation of appointments

(C) Centralised control of universities

(D) Restrictions on academic freedom

(E) Creation of a good research environment

Choose the correct answer from the options given below :

(1) (4) (3)and (O Only

(2) (3 (C)and D) Only

(3) (C),(D)and E )Onlv

[4) (4) ) and (5 Ol

Options :

87827094713. 1
87827094714. 2
87827094715.3

87827094716. 4

Question Number : 44 Question Id : 87827023980 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options:

87827094713. 1
87827094714. 2
87827094715.3
87827094716. 4

Question Number : 45 Question Id : 87827023981 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Given below are two statements :
Statement (1) : The monastery of Vikramasila, possessed a University with six colleges.

Statement (1) : Vikramasila was a well-known centre of Tantric Buddhism and attracted students
from other countries,

In the light of the above statements, choose the most appropriate answer from the options given
below :

(1) Both Statement I and Statement II are correct

(2) Both Statement I and Statement II are incorrect
(3) Statement 15 correct but Statement II is incorrect
(

4)  Statement I s incorrect but Statement I s correct

Options:

87827094717. 1
87827094718. 2
87827094719. 3

87827094720. 4

Question Number : 45 Question Id : 87827023981 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

87827094717. 1
87827094718. 2
87827094719. 3

87827094720. 4

Sub-Section Number : 3
Sub-Section Id : 8782701051
Question Shuffling Allowed : Yes

Is Section Default?: null

Question Id : 87827023982 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Question Numbers : (46 to 50)

Question Label : Comprehension

Read the following passage and answer the questions that follow :

Bharat, the country of historical values and sentiments overflowing with cultures and religions,
changes with every mile, but is still known for preserving its rich cultural heritage. Moving towards
global tourism, the ministry of ports, shipping and waterways recently created an experience for people
that brought forth the historical, cultural and religious significance of our rivers, In January and February,
the global tourism and cruise sector was abuzz with the news of the world's longest river cruise MV
Ganga Vilas. The cruise covered nearly 32,000 K over 51 days, crossing 27 rivers systems across five
states and two countries, via the Ganga-Brahmaputra river system. Starting from the heart of Uttar
pradesh in Varanasi to Dibrugarh in Assam, it had several stops and visits to nearly 50 locations,

The Act East Policy of Prime Minister Narendra Modi and the focus on developing the national
waterways made this historic voyage a reality. It was also a true demonstration of Atmanirbhar Blarat
(self reliant India) with a domestically manufactured vessel, a fully Indian crew, Indian decor, Indian
cuisine, Indian art and craft, and products being showcased. The vessel with a zero-discharge policy
also used the Indian Oil Corporation manufactured green fuel with the Dolphin Deterrent Device.

Sub questions

Question Number : 46 Question Id : 87827023983 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A



Minimum Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0
The following are true about the country Bharat :
(A) It does not preserve its cultural heritage.
(B) It is overflowing with cultures.
(C) It does not have a variety of religions.
(D) It is a country of historical values.
Choose the correct answer from the options given below :
(1) (&), (B) and (C) Only
(2) (C) and (D) Only
(3) (A)and (C) Only
(4) (B) and (D) Only
Options :
87827094721. 1
87827094722. 2
87827094723. 3
87827094724. 4

Question Number : 47 Question Id : 87827023984 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Which of the following is correct about M V Ganga Vilas ?
(1) Itis a tourist spot.

2)

(3) Itis world’s longest reiver cruise.

(4) It covered nearly 32,000 Km over 27 days

It started from Haridwar.

Options:
87827094725. 1
87827094726. 2

87827094727. 3



87827094728. 4

Question Number : 48 Question Id : 87827023985 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0

M V Ganga Vilas is a true demonstration of self-reliant India because :
(A) The decor is done by Indian designers.

(B) It serves both Indian and Western cuisine.

(C) It showcases Indian arts and crafts.

(D) It is operated by an all Indian crew.

Choose the correct answer from the options given below :

(I) (A)and (B) Only
) (&), (), (C) and (D)
) (4), (C) and (D) Only
) |

(
3
(4)  (B), (C) and (D) Only

4
Options :

87827094729. 1
87827094730. 2
87827094731. 3

87827094732. 4

Question Number : 49 Question Id : 87827023986 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0
Correct Marks : 2 Wrong Marks : 0

“This historic voyage” refers to :

(1) Global tourism

(2) Act East Policy of Prime Minister Narendra Modi
(3) MV Ganga Vilas cruise

(4) Development of National waterways



Options :

87827094733. 1
87827094734. 2
87827094735. 3
87827094736. 4

Question Number : 50 Question Id : 87827023987 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Given below are two statements :

Statement (1) : MV Ganga Vilas is an environment friendly vessel.

Statement (IT) : MV Ganga Vilas is not indigenously manufactured vessel

I the light of the above statements, choose the most appropriate answer from the options given
below :

(1) Both Statement I and Statement II are correct
2

(2) Both Statement I and Statement II are incorrect
(3) Statement I s correct but Statement I 15 incorrect
4

4)  Statement 1 is incorrect but Statement II is correct

Options :

87827094737. 1
87827094738. 2
87827094739. 3
87827094740. 4

Question Id : 87827023982 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Question Numbers : (46 to 50)

Question Label : Comprehension
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Sub questions

Question Number : 46 Question Id : 87827023983 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

87827094721. 1
87827094722. 2
87827094723.3

87827094724. 4

Question Number : 47 Question Id : 87827023984 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0
uq &t 7 faems & aR § fre foeedl | I % a wE § 2
(1) 38 U qded Td ¢ |
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Options :
87827094725. 1
87827094726. 2

87827094727. 3

87827094728. 4

Question Number : 48 Question Id : 87827023985 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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(3) e (A), (C) ¥R (D)

(4) 9 (B), (C) 3 (D)

Options :

87827094729. 1

87827094730. 2

87827094731. 3
87827094732. 4

Question Number : 49 Question Id : 87827023986 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

87827094733. 1

87827094734. 2



87827094735. 3

87827094736. 4

Question Number : 50 Question Id : 87827023987 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

87827094737. 1

87827094738. 2

87827094739. 3

87827094740. 4

Adult Education

Section Id : 878270717
Section Number : 2

Section type : Online
Mandatory or Optional : Mandatory

Number of Questions : 92



Number of Questions to be attempted : 92

Section Marks : 200

Enable Mark as Answered Mark for Review and

Clear Response: Yes
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 8782701052
Question Shuffling Allowed : Yes

Is Section Default?: null

Question Number : 51 Question Id : 87827023988 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

According to Ralph W. Tyler, studies of the learners themselve acts as a source of :
(1) Educational objectives

(2) Learning outcomes

(3) Learning experience
(4)

4)  Educational facilities

Options :

87827094741. 1
87827094742. 2
87827094743.3

87827094744. 4

Question Number : 51 Question Id : 87827023988 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

87827094741.1
87827094742. 2
87827094743. 3
87827094744. 4

Question Number : 52 Question Id : 87827023989 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

requires loss of self as one transports oneself into another space or objects as a learner.

(1) Direct analogy
2
&
(

Personal analogy
j

4

Compressed conflicts

)
)
)
) Creative invention
Options :
87827094745. 1
87827094746 2

87827094747. 3
87827094748. 4

Question Number : 52 Question Id : 87827023989 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0



Correct Marks : 2 Wrong Marks : 0
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Options :

87827094745. 1
87827094746. 2
87827094747.3

87827094748. 4

Question Number : 53 Question Id : 87827023990 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 2 Wrong Marks : 0

The study of measurable distance between people as they interact is called :
(1) pronemics

) haptics

) kinesics

) chronemics
Options :
87827094749. 1
87827094750. 2
87827094751. 3

87827094752. 4

Question Number : 53 Question Id : 87827023990 Question Type : MCQ Option Shuffling : No



Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

el ST WY forT SR & T Ik it WO Gl o SR ol o g Sl 2

Options :

87827094749. 1
87827094750. 2
87827094751. 3

87827094752. 4

Question Number : 54 Question Id : 87827023991 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

Competencies required for HR manager are :

(1) leadership and navigations, ethical practice, communication, critical evaluation and
relationship management

ethical practice, certification, training, demanding
critical evaluation, qualification, forcing, demanding

i o s
H= 2 2
e T e

seriousness, maintaining the status, demanding the subordinates, noncooperation
Options:

87827094753. 1

87827094754. 2

87827094755. 3

87827094756. 4



Question Number : 54 Question Id : 87827023991 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

T R HASH o FeT o 24 s 6 €7

(1) 9 3R ARIeYH, Heh SAaER, FYT0 ST Jedich, SR HeY Fae
2) it SRR, YA, Y, sfiere

) GHICERTo Yedie, e, S, AR

) Tsitea, feaf o T, el s O, SR

Options :

87827094753. 1
87827094754. 2
87827094755. 3

87827094756. 4

Question Number : 55 Question Id : 87827023992 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0
In 1823 Hindu School model emphasised on the study of :

(I) English language and literature
(2) Vernacular education

(3) Religious education

(4) Skill education

Options :

87827094757. 1
87827094758. 2
87827094759. 3

87827094760. 4



Question Number : 55 Question Id : 87827023992 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

1823 H fag Tpat Aiee A fohdeh =99 W 9a fear?
(1)  SAUSH 9 3R g
(2) aHIFer e

(3) wufHer foren
(4) hrere e
Options :

87827094757.1
87827094758. 2
87827094759. 3

87827094760. 4

Question Number : 56 Question Id : 87827023993 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 2 Wrong Marks : 0

The task force on adult and out of school education was appointed by the :
(1) ministry of education

2)  planning commission

]

(
(
(

)
) ministry of women and child development
)

4)  ministry of youth affairs

Options :

87827094761. 1
87827094762. 2
87827094763. 3

87827094764. 4



Question Number : 56 Question Id : 87827023993 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

U1 SR el § oI e o HelY § e i e freffed & g 9 T 9y
LEIREIGR]

Options :

87827094761. 1
87827094762. 2
87827094763. 3

87827094764. 4

Question Number : 57 Question Id : 87827023994 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 2 Wrong Marks : 0

Probability sampling methods are :
(1) simple random sampling, systematic random sampling stratified random sampling

| -

systematic random sampling, snow ball sampling, simple random sampling

L |

(
(
(4

)
) cluster sampling, quota sampling, simple random sampling
) simple random sampling, quota sampling, snow ball sampling

Options :

87827094765. 1
87827094766. 2
87827094767. 3

87827094768. 4



Question Number : 57 Question Id : 87827023994 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Here Wi g §

(1) W 9o Y=, Gerared g Tidee 9t qrgiesd Yid=ad
(2) Gorafed Argiegeh Yid=ad, i o Yida §ed Agfege Hiaea

(3) Tt Y=, e Y=, § Atg e Fidaa

(4) WA A oI Hide, el Ui 59, Srare Jidee

Options :

87827094765. 1
87827094766. 2
87827094767. 3

87827094768. 4

Question Number : 58 Question Id : 87827023995 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

The study of how to help the learner gain understanding about how knowledge is constructed and

about the conscious control of tools for doing 50 is known as
(1) Metacognition
2)  Construction views of education

2

(3) Transaction
(4)  Meta physical enquiry
Options :
87827094769. 1
87827094770. 2
87827094771. 3

87827094772. 4



Question Number : 58 Question Id : 87827023995 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

T & T oI T R o Fo 3 e e & et g A o g 4 % v &
FYH F F7) T ¢ |

Options :

87827094769. 1
87827094770. 2
87827094771. 3
87827094772. 4

Question Number : 59 Question Id : 87827023996 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Assessment and certification of the skill courses is the responsibility of bodies recognised by :
(1) NSDC/MMDC

(2) NMDC/MCDC

(3) NSDC/DCDC

(4) NSDC/MSDE

Options :

87827094773. 1

87827094774. 2

87827094775. 3



87827094776. 4

Question Number : 59 Question Id : 87827023996 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

HIVIET WIGTHA 1 ookt AR IO G RIS e o S
) WwEH/ W

) WWEH/ W

) TEEEE/ GH

) TEAT/ W

Options :

(
2
(
(

87827094773. 1
87827094774. 2
87827094775. 3

87827094776. 4

Question Number : 60 Question Id : 87827023997 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

National skill development mission was launched in India in the year :

(1) 2014
(2) 2017
(3) 2015
(4) 2016
Options :

87827094777.1

87827094778. 2



87827094779. 3

87827094780. 4

Question Number : 60 Question Id : 87827023997 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

YR H T =i T faem o1 Ry & fman = ?

(1) 2014
(2) 2017
(3) 2015
(4) 2016
Options:

87827094777.1
87827094778. 2
87827094779. 3

87827094780. 4

Question Number : 61 Question Id : 87827023998 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 2 Wrong Marks : 0

The following figure represents :

Sender| — |Message| — [Treatment| — |Channel|— [ Receiver

General communication model

)

2)  Aristotle’s model
) Lasswel’'s model
)

Schramm’s model

Options :



87827094781. 1
87827094782. 2
87827094783. 3

87827094784. 4

Question Number : 61 Question Id : 87827023998 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

frfefan siefd ford wieet i guidt &2

T (| ¥ || (S| 998 || s

(1) M= Sy Hed
(2) ST H HIE
(3) wHad I Aigd
(4) 9T 1 Hied
Options :

87827094781. 1
87827094782. 2
87827094783. 3

87827094784. 4

Question Number : 62 Question Id : 87827023999 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



Bentinck appointed Macauly as the president of :
(1) Feneral Committee of Public Instruction

(2) Education Department

(3) Quinquenial Reviews of Education

(4) Indian Education Commission

Options:

87827094785. 1
87827094786. 2
87827094787.3

87827094788. 4

Question Number : 62 Question Id : 87827023999 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

sAfes 7 At i %1 Ay g e
(1) EH= ek foen qfafd

(2) Toen favm

(3) T =1 d=anfver gHia

(4) T forea S

Options :

87827094785. 1
87827094786. 2
87827094787. 3
87827094788. 4

Question Number : 63 Question Id : 87827024000 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0



Correct Marks : 2 Wrong Marks : 0

Jan Shikshan Sansthans under category A’ are located at :

(1) Bangalore, Ajmer, Tirupati, Chandigarh

2)  Chennai, Delhi, Jaipur, Kanpur

3) Jodhpur, Lucknow, Delhi, Visakhapattanam
)

(
(
(4

Bangalore, Chennai, Delhi, Hyderabad
Options :

87827094789. 1

87827094790. 2

87827094791. 3

87827094792. 4

Question Number : 63 Question Id : 87827024000 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
Uit ‘' & ded A1 Al 5 foieTor e et fed € 2
(1) <TER, R, foefd, Jveime

(2) =T, fowed, SRR, FAR

(3) SNYR, @S, feoedl, favmamzeay

(4) SR, 93, feoddl, gevee

Options :

87827094789. 1
87827094790. 2
87827094791. 3

87827094792. 4

Question Number : 64 Question Id : 87827024001 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A



Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

The application of machine learning methods to a large database is called :
(1) Big data computing
2)  Life long learning

(2)
(3) Data mining
(4)

4)  Artificial intelligence

Options :

87827094793. 1
87827094794. 2
87827094795. 3

87827094796. 4

Question Number : 64 Question Id : 87827024001 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
T 9 SEH T 7Y @i faferii % STyam &l 311 el Sl & /
(1) fem <o smegfen

Options :

87827094793. 1
87827094794. 2
87827094795. 3

87827094796. 4

Question Number : 65 Question Id : 87827024002 Question Type : MCQ Option Shuffling : No



Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 2 Wrong Marks : 0

The acronym “UDAAN” refers to :

(1) Traditional Teaching Method
Government Scholarship Program

— —
2 M
—

A self paced learning platform
1

—
e

Scheme to subscribe air tickets for economically weaker section

Options :

87827094797. 1
87827094798. 2
87827094799. 3

87827094800. 4

Question Number : 65 Question Id : 87827024002 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

HEqER “UDAAN” &l 399 ¢

(1) 9RO e fafy
(2) R TH g
(3) Tl ¥ HiEd il wIeHE
(4) oY ¥ 4§ FAeR T & fou wfsael o gan foke Fem

Options:

87827094797.1
87827094798. 2
87827094799. 3

87827094800. 4



Question Number : 66 Question Id : 87827024003 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0
Which of the following cannot be applied on online learning ?
(1) Learning Management System (LMS)
Facebook

)
3) Face to face blackboard learning
)  Quora

Options :

87827094801. 1
87827094802. 2
87827094803. 3

87827094804. 4

Question Number : 66 Question Id : 87827024003 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
HTeNE A o fere FreAfefed § 9 forwer sFyr Tl oo i1 ekl 5 7
(1) sferm Feier yome (Tel T3 T)

) HEIE
) VAT T HA-FH 3
)

2
(3
(4) @

Options :

1

87827094801. 1
87827094802. 2
87827094803. 3

87827094804. 4



Question Number : 67 Question Id : 87827024004 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

The operational definition of concept is called :
(1) hypothesis

(2) sampling
(3) wvariable
(4) research question

Options :

87827094805. 1
87827094806. 2
87827094807. 3

87827094808. 4

Question Number : 67 Question Id : 87827024004 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

AFYON skt HigFareHes qfIET 1 &1 &HEl ST ¢ ?

(1) IReRed

(2) gfd=Ee

(3) =

(4) STIHYE
Options :

87827094805. 1
87827094806. 2
87827094807. 3

87827094808. 4



Question Number : 68 Question Id : 87827024005 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Which alternate learning system can be credited for the idea of paid education leave ?

(1) Adult education
2
3
(

Recurrent education

1

)
) Continuous education
) Formal education

Options :

87827094809. 1
87827094810. 2
87827094811. 3

87827094812. 4

Question Number : 68 Question Id : 87827024005 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

g e st o fomm 1 99 o derfeuss sifemm ot 6 fo < e & 7

(1)

(2) o e
(3) e fae
(4) S e
Options :

87827094809. 1
87827094810. 2
87827094811. 3

87827094812. 4



Question Number : 69 Question Id : 87827024006 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0
The provisions of Charter Act of 1813 is related to :
(1) School infrastructure
(2) Improvement of literature
(3) Teacher appointment
(4) Expansion of primary education
Options :
87827094813. 1
87827094814. 2
87827094815. 3

87827094816. 4

Question Number : 69 Question Id : 87827024006 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

1813 & =X Afufqam o forgent graum en?
(1) Thel HASTHEA

(2) HIEH %1 GUR

(3) TRvereni =t frrgfer

(4) wrafaes fore o1 fasr
Options :

87827094813. 1
87827094814. 2
87827094815. 3

87827094816. 4



Question Number : 70 Question Id : 87827024007 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

UNESCO has declared Indian languages as endangered as per NEP 2020 **
(1) 100

(2) 197

(3) 297

(4) 397
Options :
87827094817. 1
87827094818. 2
87827094819. 3
87827094820. 4

Question Number : 70 Question Id : 87827024007 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

TI(UNESCO) R SOV 1 erheTie W fo & S S % foen ol
M0 E|

()

1
2

2

2
()
(4
Options:

87827094817. 1
87827094818. 2

87827094819. 3



87827094820. 4

Question Number : 71 Question Id : 87827024008 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0
[ntroduction of vocational competencies into the curriculum development does not includes :

(1) Highlighting the importance of connector between generic and professional competencies

(2) To create preconditions necessary to define specific occupational competencies of confents
on the basis of recommendations for a variety of sectors

(3) To develop a practical program for exploration of implementation that in view of the
constraints of VET curriculum framework

(4) Fill in the gaps of linguistic and social skills
Options :

87827094821. 1

87827094822. 2

87827094823. 3

87827094824. 4

Question Number : 71 Question Id : 87827024008 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

TG e Ak 4 ) YT 0§ Freafifn Wi 6 ¢

(1) S 4R R e % d Ta % e SR A

(2) fafime syaue el SR fovaag & R e & fo ST Qv & g &
foen e fofie et o e e €

() 3133 TR S A A T g G e 4 R A o o SR
forrfe

(4) SO SR SRR I o A o



Options :

87827094821. 1
87827094822. 2
87827094823. 3

87827094824. 4

Question Number : 72 Question Id : 87827024009 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Place the five stages of decision innovation process in a correct sequence.
(1) knowledge, implementation, confirmation, persuation, decision

2)  decision, implementation, persuation, confirmation, knowledge

S

(
(
(

) implementation, persuation. decision, knowledge, confirmation

4)  knowledge, persuation, decision, implementation, confirmation

Options:

87827094825. 1
87827094826. 2
87827094827.3

87827094828. 4

Question Number : 72 Question Id : 87827024009 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



901 Fam=R wfshan & urg =RON & e %Y Y
(1) FM, feraram, gfte, s, o
(2) Toi, foparam, 34, qfte, 99
(3) Torara, 1973, ol M, gfe
(4) FM, 374, FiE, frarasm, gfe

Options:

87827094825. 1
87827094826. 2
87827094827.3

87827094828. 4

Question Number : 73 Question Id : 87827024010 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Full form of NASSCOM is :

(1) National Association of Software and Services Companies
(2) National Association of Social Services Communication
(3) National Assistance for Software and Services Companies
(4) National Association of Service of Selection Companies

Options :

87827094829. 1
87827094830. 2
87827094831.3
87827094832. 4

Question Number : 73 Question Id : 87827024010 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0



Correct Marks : 2 Wrong Marks : 0
N ASSCOM 1 X A8 &1 & ?
(1) M THIFAUIA 3% Hieaa U |idas ST
(2) AYEA THIWHE 36 Hive |idds wgfheE
(3) YA AFTEY W HRSR U HiHds FHyArs
(4) SIS THIHUIE TE 9ia U feisr FuHrs

Options :

87827094829. 1

87827094830. 2

87827094831. 3

87827094832. 4

Question Number : 74 Question Id : 87827024011 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0
The main focus of guidance and counselling in adult education is :
(1) Provide instruction material
) Promote self-directed learning
) Conduct examination
) Offer financial assistance

Options :

87827094833. 1
87827094834. 2
87827094835. 3

87827094836. 4

Question Number : 74 Question Id : 87827024011 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A



Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

i foren & wriee oit wwl # qe v § fre W e Hfed fem e

(1) oy Slt Suetey
(2) e SR = s <
(3) e st F

(4) forita wRra YeH
Options :

87827094833. 1
87827094834. 2
87827094835. 3
87827094836. 4

Question Number : 75 Question Id : 87827024012 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0

Components of four quadrant approach :

(1) e-tutorial, e-content, principal investigator, discipline

(2) e-tutorial, e-content, National coordinators, Sector

(3) principle investigator, National coordinators, discipline, sector
(4) e-tutorial, e-content, web-resources, self-assessment

Options :

87827094837. 1

87827094838. 2

87827094839. 3

87827094840. 4

Question Number : 75 Question Id : 87827024012 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A



Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
freferfad # & -8 9qd we U (TE) & HE e §
(1) 3-SR, 3-he, Y@ FTHUMHRA T
(2) I-SEINE, $-hde, TET TH-agedl], T
(3) 9@ IFTHUMHRA (31ETF), UL YRR, ST, HFRT
(4) E-zpRifEE, e, 4a fad, w-qeiE

Options :

87827094837. 1

87827094838. 2

87827094839. 3

87827094840. 4

Question Number : 76 Question Id : 87827024013 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Who started the Gurgoan experiment for rural areas ?
(1) F.L. Brayne
(2) Spencer Hatch
(3) Mahatma Gandhi
(4) V.T. Krishanmachari
Options:
87827094841. 1
87827094842. 2
87827094843. 3

87827094844. 4

Question Number : 76 Question Id : 87827024013 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A



Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

o &350 ok fere TrenTa wEm foRee wiy foman 2
(1) T%. T SFF

(2) TWEWEF

(3)  HETCHI iedt

(4) &1 3. FomEER
Options :

87827094841. 1
87827094842. 2
87827094843. 3
87827094844. 4

Question Number : 77 Question Id : 87827024014 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

is the originator of the message in Berlo’s model of communication.
(1) Channel (C)
(2) Receiver (R)
(3) Media (M)
(4) Source (5)

Options :

87827094845. 1
87827094846. 2
87827094847. 3

87827094848. 4

Question Number : 77 Question Id : 87827024014 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A



Minimum Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0

Il o GU9or Hisd H ¥l 1 Yadeh ¢ |
(1) =74 (C)

s

(2) Ul (R)
(3) Hifear (M)
(4) ¥ (S)
Options :
87827094845. 1
87827094846. 2
87827094847. 3

87827094848. 4

Question Number : 78 Question Id : 87827024015 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Which of the author primarily discussed about ‘Zone of Proximal Development’ ?
(1) Jean Piaget

(2) Lev Vygotsky

(3) Benjamin Bloom

(4) C. Levi strauss

Options :

87827094849. 1

87827094850. 2

87827094851. 3

87827094852. 4

Question Number : 78 Question Id : 87827024015 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A



Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

frreferfad o ¥ fore oras 3 qerd: STy foehm o S & o) ¥ =49 &l 7
(1) i firred

(2) o forieet
(3) SSIIH H
(4) W@ - R
Options :

87827094849. 1
87827094850. 2
87827094851. 3
87827094852. 4

Question Number : 79 Question Id : 87827024016 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

World wide data on nations indicate extremely high correlations between literacy rate and

Options :

87827094853. 1
87827094854. 2
87827094855. 3

87827094856. 4

Question Number : 79 Question Id : 87827024016 Question Type : MCQ Option Shuffling : No



Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

TS 3 e fovaemdt owe W o 4R % 9 S Ted W S £

Options :

87827094853. 1
87827094854. 2
87827094855. 3

87827094856. 4

Question Number : 80 Question Id : 87827024017 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

Amongst the activities mentioned below which one is not an entrepreneurial activity as per GEM
Global Entrepreneurial Monitor).

1) Trading

) Manufacturing
)

)

3
4

(
(1
2
(3) At

(4)  Servicing industry
Options:
87827094857. 1
87827094858. 2
87827094859. 3

87827094860. 4



Question Number : 80 Question Id : 87827024017 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Options :

87827094857. 1
87827094858. 2
87827094859. 3

87827094860. 4

Question Number : 81 Question Id : 87827024018 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



Which of the following diagrams represents the high negative correlation between two variables ?
Correlation scatterplots

Fgure -1 Fgure-2

Figure-3 Figure -4

)
)
) Figure No.3
)

Options:

87827094861. 1
87827094862. 2
87827094863. 3

87827094864. 4

Question Number : 81 Question Id : 87827024018 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



frerforfad 9 9@ S o sE < =0 & o9 35 B Sedey guid g ?
TeHay fasmit amE

Figure - 1 Figure - 2

Figure -3 Figure - 4

Options :

87827094861. 1
87827094862. 2
87827094863. 3

87827094864. 4



Question Number : 82 Question Id : 87827024019 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

National Skills Research Division (NSRD) and NSDA (National Skills Development Authority act)
as a think tank for ministry of skill development of entrepreneurship . Its key functions does not
include :

(1) To conduct qualitative and quantitative research on skill gaps

(2) Establish research collaborations between universities in India and abroad in the field of skill
development

(3) Develop close network with host of other key institutions of stakeholders in the kil
development space

(4)  Provide funding and infrastructure support to skill industry
Options :

87827094865. 1

87827094866. 2

87827094867. 3

87827094868. 4

Question Number : 82 Question Id : 87827024019 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

T v e RO (O ) 3 ol T VR SR T (T O 8 ) v
fephrg SR st W o o ok o & o 0 90 o 1 9 v 9 R €7
(1) 3R e 5 TR SR FETe S e

(2) I o &7 T iR oo v o i e wm i e

(3) It {451 57 T el 9 fee] o A T et foefi e

(4) IS FE % TN S S e e |

Options::

87827094865. 1



87827094866. 2
87827094867. 3

87827094868. 4

Question Number : 83 Question Id : 87827024020 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

One of the most significant implications of individual differences for organising education
programmes lies in using :

(1) Teacher centric approach

)

Content centered approach

(2
(3) Examination centered approach
4

Learners centric approach

Options :

87827094869. 1
87827094870. 2
87827094871.3
87827094872. 4

Question Number : 83 Question Id : 87827024020 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Fae FiFm ST e o ot ot fomarel o1 e sl e fon 3 &
fife a7

Options:

87827094869. 1
87827094870. 2
87827094871.3

87827094872. 4

Question Number : 84 Question Id : 87827024021 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 2 Wrong Marks : 0

denotes an organised activity focussed on methods of education and or training,
Curricular Organs

)
) Instructional Design
) Subject Planning

] Monitoring
Options :
87827094873. 1
87827094874. 2
87827094875. 3
87827094876. 4

Question Number : 84 Question Id : 87827024021 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A



Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

1 ferm wam 1 wfnem & v gufea fw S @ w2

(1) UISTsRH o T
(2) foegor wee
(3) oISl Tl
(4) wifFef
Options :

87827094873. 1
87827094874. 2
87827094875. 3
87827094876. 4

Question Number : 85 Question Id : 87827024022 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Learning is the process where by knowledge is created through the transformation of :
(1) Content

[nformation
Interactions

(
3
¢

) Experiences
Options :

87827094877. 1
87827094878. 2
87827094879. 3

87827094880. 4

Question Number : 85 Question Id : 87827024022 Question Type : MCQ Option Shuffling : No



Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

e T Wi & e g & WY % WM § JH A Yo 0 S 2

73%

(1)
2)
()
4)

ORCHER
4 agvel
Options :

87827094877. 1
87827094878. 2
87827094879. 3

87827094880. 4

Question Number : 86 Question Id : 87827024023 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

The orientalists attempted to promote education in language.
(1) Western

(2) English
(3

(

)
) Vernacular
4)

Oriental

Options:

87827094881. 1
87827094882. 2
87827094883. 3

87827094884. 4



Question Number : 86 Question Id : 87827024023 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

graafagl A Y foreq 1 a@ran <4 w1 9Ard R |
(1) afe=st s

(2) TSI T

(3) SR U

(4) TSI W

Options :

87827094881. 1
87827094882. 2
87827094883. 3

87827094884. 4

Question Number : 87 Question Id : 87827024024 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0
Which of the following is an independent variable ?
(1) Age of the respondent
(2) Score of mathematics
(3) Remedial teaching
(4) Gender

Options:

87827094885. 1

87827094886. 2

87827094887. 3

87827094888. 4



Question Number : 87 Question Id : 87827024024 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Trefafad § 9 o[ |9 a3 e ?
(1) SRS Sl &Y

(2) U &% gredieh

(3) SUHENIH et

(4) fam (S0

Options :

87827094885. 1
87827094886. 2
87827094887. 3

87827094888. 4

Question Number : 88 Question Id : 87827024025 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

Development communications can be defined as :
(1) employing communication methods to induce social change effectively

2)  deploying methods of communication o inhibit social change effectively

a2

(
(
4

)

) an organised effort implemented within a specific target group

) awell throughout strategy or communication activity focused on a specific audience, specific
period and aimed at achieving a goal

Options:

87827094889. 1

87827094890. 2

87827094891. 3

87827094892. 4



Question Number : 88 Question Id : 87827024025 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

forere iy 1 o e A vt o 1 e €7

1) et it 1 Y e o e i oot 1 o7l 9 8 9 e

2) ST G 1 I e o ferw o fofe 1 gl 9 8 o9

3) e oy i g o it SR T 1 v e

4) fofire giawm, fafire sty e o e e 9 e o fou o g e A
i |

Options :

(
(
(
(

87827094889. 1
87827094890. 2
87827094891. 3
87827094892. 4

Question Number : 89 Question Id : 87827024026 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 2 Wrong Marks : 0

Learning experience refers to the interaction between the :
(I) Learner and Instructor only

(2) Learner and school curriculum only

(3) Learner and Teachers only

(4) Learner of the external environment for reflection

Options:
87827094893. 1
87827094894. 2

87827094895. 3



87827094896. 4

Question Number : 89 Question Id : 87827024026 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
ferm s vE 1 aneed * g fa:fwa g1
(1) <hacl famefi siR sreres
(2) herd foranedl IR T gl
(3) et forenedt AR fogrer
(4) T & foru fognedi iR sTRr ardE

Options :

87827094893. 1
87827094894. 2
87827094895. 3

87827094896. 4

Question Number : 90 Question Id : 87827024027 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0

Macaulay’'s minute was declared on :
(1) 2 February 1835

(2) 7 march 1835

(3) 1 June 1834

(4) 24 November 1839

Options :
87827094897. 1

87827094898. 2



87827094899. 3
87827094900. 4

Question Number : 90 Question Id : 87827024027 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

HeRTel 1 STOUNYS el Eiifed femam 72 2
(1) 2 HLEdl 1835

(2) 7 HE 1835

(3) 1 1834

(4) 24 TR 1839
Options :
87827094897. 1
87827094898. 2
87827094899. 3

87827094900. 4

Question Number : 91 Question Id : 87827024028 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



Designing a structured situational interview procedure involves :
(A) Analyze the job

(B) Rate the job’s main duties

(C) Create interview questions

(D) Create benchmark answers

(E) Simulation assessment

Choose the correct answer from the options given below :
(1) (A) (B) (C) and (D)

(2) (A) (B), (D) and (E)
(3) (B), (C) (D) and (E)
(4)  (B), (D), (C) and (E)
Options:

87827094901. 1
87827094902. 2
87827094903. 3

87827094904. 4

Question Number : 91 Question Id : 87827024028 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



ferelt Hafea feafae wmemerr & oo o wnfae 2
(A) M =1 favermo &

(B) M % HEA HasAl skl FHuRY

(C) HIERR & Y9 IR Al

(D) fHeo-To@ 3 TR T

(B) THeammrd Hgeaie

= fou U fashedi § 9 Wel SW &1 994 Hifad :

(1)  (A), (B), (C) 3R (D)
(2) (A), (B), (D) ¥R (E)
(3) (B), (C), (D) ¥R (E)
(4) (B), (D), (O) ¥R (E)
Options :

87827094901. 1
87827094902. 2
87827094903. 3

87827094904. 4

Question Number : 92 Question Id : 87827024029 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Arrange the hierarchy of learning in sequential form :
(A) Stimulus learning

(B) Multiple discrimination

(C) Verbal chaining

(D) Signal learning

(E) Motor learning

Choose the correct answer from the options given below :
(1) (A), (©), (D), () (B)

(2)  (B), (D), (©), (E), (A)
(3) (D) (&), (E), ©) (B)
(4) (O, (B), (A) (D), (E)

Options:

87827094905. 1
87827094906. 2
87827094907. 3

87827094908. 4

Question Number : 92 Question Id : 87827024029 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



ST & YhR o AR i STTHATER A HIfST

(A) €U e
(B) g farsidienm
(C) vnfeger AfT
(D) Hehe 3tferTH
(E) 9% sAfemme

= fou U faweyl # 9 9 W F1 T3 HifSU

(1) (A), (©), (D), (E), (B)
(2)  (B), (D), (C), (B), (A)
(3) (D) (&), (E), ©), (B)
(4)  (©), (B), (A), (D), (E)

Options:

87827094905. 1
87827094906. 2
87827094907. 3
87827094908. 4

Question Number : 93 Question Id : 87827024030 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Identify the correct sequence in the process of communication :
(A) Message initiated in the mind encoding

(B) The medium through which the message travels

(C) Check on the success of transfer of original message

(D) Communication barrier distorting clarity of the message
(E) Message the physical product of the encoded message
Choose the correct answer from the options given below :

(1) (E) (©), (D), (B), (4)

(2)  (E), (A), (B), (D), (O)
(3) (A), (E), (D), (B), (C)
(4)  (A), (©), (B), (D), (E)
Options:

878270949009. 1
87827094910. 2
87827094911. 3
87827094912. 4

Question Number : 93 Question Id : 87827024030 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



GO gishan § TET ST ol U ShifeTl |

(A) HF Y He &1 HARY Bl

(B) HreaH fSEeh g1 Hedl Jerdl §

(C) T G o {01 il ATl hi Sid LT
(D) H<Y i Tyl il fakd w e GHuo sTei
(E) HdIg Theds Hag = Hifde UK

= fou U fashedi § 9 Wel SW &1 994 Hifad :

(1) (E), (©), (D), (B). (A)
(2)  (B), (A), (B), (D), (C)
(3)  (A), (E), (D), (B), (C)
(4)  (A), (Q), (B), (D), (E)
Options:

878270949009. 1
87827094910. 2
87827094911. 3

87827094912. 4

Question Number : 94 Question Id : 87827024031 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



[dentify the Interpersonal skills from the following :

(A) Courtesy and empathy

(B) Dealing with people who are difficult and hostile

(C) Use of sound judgment to generate and evaluate alternatives
(D) Relating to people from varied backgrounds and situations
(E) Sensitive to individual differences

Choose the correct answer from the options given below :

(1) (A), (B), (C), and (E)

(2) (A), (B) (D), and (E)
(3) (A), (B), (C), and (D)
(4)  (A) (C), (D), and (E)
Options:

87827094913. 1
87827094914. 2
87827094915. 3
87827094916. 4

Question Number : 94 Question Id : 87827024031 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Frfafad 9 sia-dafeds RI9 St 9891 Hifu

(1) % (A), (B), (O), ¥R (B)
(2) A (A), (B), (D), ¥R (E)
(3) EE (A), (B), (C), ¥R (D)
(4) F=F9 (A), (O), (D), 3R (E)
Options :

87827094913. 1
87827094914. 2
87827094915. 3
87827094916. 4

Question Number : 95 Question Id : 87827024032 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Arrange the following needs as per the Hierarchical Theory of needs using the codes given below :
A) Self-esteem needs
B) Security needs

D) Self-actualisation
E) Material needs

Choose the correct answer from the options given below :
(1) (©) O), B), (4)

(
(
(C) Basic needs
(
(

(
2 (©) @) 4), (0)
(3) (E) (B) (&) (D)
(4 (8, ) 0)
Options:

87827094917. 1
87827094918. 2
87827094919. 3

87827094920. 4

Question Number : 95 Question Id : 87827024032 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



T o U el 1 SN . SR o YR g o ST s STevaaist
oA it

1

(1)
2
()
4
Options:

87827094917. 1
87827094918. 2
87827094919. 3

87827094920. 4

Question Number : 96 Question Id : 87827024033 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



[dentify the sequence of professional development cycle for continuous improvement of a teacher
(A) Identify teacher leaming needis

(B) Apply concepts of lessons

(C) Learn or review concepts

(D) Identify student learning needs

(E) Critique and reflect on lesson

Choose the correct answer from the options given below :
(1) (4), 0O) &) ), ©)

(2 (A), () € E) B
(3) (D) (&) C) (B) (B
(4 ©) @), ®) €
Options:

87827094921. 1
87827094922. 2
87827094923. 3

87827094924. 4

Question Number : 96 Question Id : 87827024033 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



fopefl s1eTeh o fot Wad oR & g foeh™ =1k o s 1 T8 i :
(A) AT SHeTH SAETHRAE S TEEr

(B) 1S %l TRl Rl TF] L

(C) ST i HIEH! 37 35H1 FHIET HE

(

(

e

D) B SATH SR A
E) U3 %I GHIET 721 36 T forem

= feu T foeredi § | W& I H W o :
(1) (A), D), E), B), ©)
(2) (A), (D), ©) (E) (B
(3) (D) (A), ©) (B) (B
(4) (D) (@A) B) E), ©)

Options:

87827094921. 1
87827094922. 2
87827094923. 3

87827094924. 4

Question Number : 97 Question Id : 87827024034 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Arrange the phases of Instructions in sequencial manner.
(A) Informing the objectives

(B) enhancing retention and transfer

(C) Stimulating recall of prerequisite learnings

(D) Presenting the materials

(E) Gaining attention

Choose the correct answer from the options given below :

(1) (A), (B), (D), (B), (©)

Options:

87827094925. 1
87827094926. 2
87827094927.3
87827094928. 4

Question Number : 97 Question Id : 87827024034 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



3T H =N bl SHHAHR AT HifST
(A) IEEvE F SAFHRT S
B) wfaumo 91 st § sifigfy

E) M YIe &L

(1) (A), (B), (D), (E), (O
(2) (O, (D), (A), (B), (E)
(3) (D), (©), (B), (A), (E)
(4)  (E), (4), (©), (D), (B)
Options:

87827094925. 1
87827094926. 2
87827094927. 3
87827094928. 4

Question Number : 98 Question Id : 87827024035 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Arrange the Instructional process in correct sequence :
A) Selective perceptions
B) Memory storage

(

(

(C) Expectancy
(D) Coding

(E) Attentiveness

Choose the correct answer from the options given below :
(1) (B), (A) (©), (E), (D)

Options:

87827094929. 1
87827094930. 2
87827094931.3
87827094932. 4

Question Number : 98 Question Id : 87827024035 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



(B) i HER™

(C) FHRn

(D) HehelTehT

(E) SATHTHcHRdl

= feu U foredl § | W& ST 1 T I -
(1) (B), (A), (O (E), (D)

(2) (O, (E), (A), (D), (B)

(3) (D) (O (E) (B), (A)

(4)  (A), (B), (D), (C), (E)
Options:

87827094929. 1
87827094930. 2
87827094931. 3

87827094932. 4

Question Number : 99 Question Id : 87827024036 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Arrange the IBM four TIER learning model in order of sequence :
(A) Understanding of practice

(B) Group learning

(C) Awareness and Information

(D) IBM'’s case for learning success

(E) Higher order skill and proficiencies

Choose the correct answer from the options given below :

(1) (D), (E), B), (4), (©)
(2) (D) (&), ©) (B) (E
(3) (D), (©) (A) (B) (E)
() (D)

)
)
)
) (D), (B), () (C) (4)

4
Options:

87827094933. 1
87827094934. 2
87827094935. 3
87827094936. 4

Question Number : 99 Question Id : 87827024036 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



IR~ IR Oisd FI STFATHR SHaferd Sy :
(A) &Y 3R 37

(B) HHE HAIETH

(C) SIFT&RAl SR =1

(D) AfTH Hoherdl &g 38 st TH &1 Gl

(E) = shH o1 Il 99 Jeilvrdl

== fou 7u fosred] § € W& I 1 T4 HIGT :

(1) (D), (B), (B), (A), (C)
(2) (D), (A), (), (B), (E)
(3) (D) (©), (A) (B), (E)
(4) (D), (B), (E), (Q), (A)
Options :

87827094933. 1
87827094934. 2
87827094935. 3
87827094936. 4

Question Number : 100 Question Id : 87827024037 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Arrange the parts of project report in sequential order :
(A) Title, Name and affiliations of authors and abstract
(B) Introduction method

(C) Results, Discussion, References

(D) Figure captions and figures

(E) Author notes, foot notes, tables

Choose the correct answer from the options given below :

(1) (A), (©), (B), (D), (E)
(2)  (A), (B), (O), (D), (E)
(3) (A), (B), (O) (E), (D)
(4) (4), (B), (B), (D), (©)
Options:

87827094937. 1
87827094938. 2
87827094939. 3

87827094940. 4

Question Number : 100 Question Id : 87827024037 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



YRS rsige fdie o Rl &l ShAER W@
(A) @ &AM, T 3R Ha©[, 3T

(B) T gxarerm fafy

(C) uRomH, ==, Ha

(D) 3A1eRfd viites den f==

(E) i@ o feuqull, arg feogof], gmoit

== feu U faskheqi § ¥ W& 3T 1 =994 HifS -

(1) (A), (©), (B), (D), (E)
(2)  (A), (B), (©), (D), (E)
3)  (A), (B), (©) (E), (D)
(4) (A), (E), (B), (D), (C)
Options :

87827094937. 1
87827094938. 2
87827094939. 3

87827094940. 4

Question Number : 101 Question Id : 87827024038 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Match List - I with List - IL

List - 1
A) Intutive instruction (I)
(B) Visual instruction (1)
(C) Audio visual instruction ~ (III)
(D) ICT (IV)

List - II
Net worked system

Visual artifacts
Teachers, students, textbooks
Digital media

Choose the correct answer from the options given below :

(1) (AL, (B)-(), (-1, (DHIV)
(2)  (A)(D), (B, (C-(ID, (D)-(IV)
(3) (A}, B)-(1), ©)-(1), D)-(IV)
(4)  (A)-(Im), (B)-(I0), (©)-(IV), (D)-(0)
Options:

87827094941. 1
87827094942. 2
87827094943. 3

87827094944. 4

Question Number : 101 Question Id : 87827024038 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



et - 1l gat - 11 & 9 e shife

-1 -1

Yrerforer drenfirent womrett TH

faema =rur
(A) id: J99 3T ()  Seraf o
(B) ¥ M () %9 FeARHH
(C) 9 5% 3 () AT, T, NSAJES
(D) . 4§ 2 (1v) fefsea wifem
T feu U fashedl § © WE S 1 79 Hif0
(1)  (A)-), (B)-(I), (C)-(II), (D)-(IV)
(2) (A, (B)-(II), (©)-I), (D)}-(IV)
(3) (A, (B)-(ID), (©)-(D), (D}-(IV)
(4) (A1, (B)-(ID, (C)-(IV), (D)-(I)
Options:

87827094941. 1
87827094942. 2
87827094943. 3

87827094944. 4

Question Number : 102 Question Id : 87827024039 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Match List - I with List - II.

List - 1 List - II

Concepts Theorist(s)
(A) Taxonomy of Educational objectives ()  Neil Selwyn

The classification of Educational goals
(B) Pedagogy of the oppressed ()  Benjamin Samuel Bloom
(C) Is Technology good for Education ? () Paulo Friere

(D) The platform society public valuesina (IV) Jose Van Dijck
connective world
Choose the correct answer from the options given below :

(1) (AH), (B)-(I), (C-IV), (D[
-0, (DHIV

() (AT, B)-(), € )
(3) (A1), (B-(IV), (-1, (D))
(&) (AHIV), (B)-(I, (©)-(1), (D))
Options:

87827094945. 1
87827094946. 2
87827094947. 3

87827094948. 4

Question Number : 102 Question Id : 87827024039 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



o - 1l Telt - 11 % 919 foer ifse
ot - 1 gt - 11
Wy g
(A) Verfors Sl & e ; fafoes () i Sear

AL Bl AT
(B) 3ciifed 1 e () s=fi e oM
(C) 0 Teheiifeh Toreqn o fer 37eet €7 () wreal B
(D) HHIS I ©IZHH H0 G9R H ol 9ol (IV) S 9 fefse
i fou T fachedl | | Wl I A T HifC ;
(1) (A)-(I), B)-(m), ©-IV), (D)-0)
(2)  (A)(I), B)-), -0, (D}IV)
(3)  (A)-(D), (BIIV), (O-(I), (D)-(I)
(4)  (A)-(1V), (B)-(IID), (C)-(), (D)-(II)
Options:

87827094945. 1
87827094946. 2
87827094947. 3

87827094948. 4

Question Number : 103 Question Id : 87827024040 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Match List - I with List - II.
List - I List - II

A) Enabling Blends

B)  Enhancing Blends

) Radical changes in learning model
) Processing information
C) Transforming Blends

D) Teaching model

( (
( (
( (IM) Primary focus on Addressing issues of access
( (IV) Incremental changes to the pedagogy

Choose the correct answer from the options given below :

(1) (AH, (B)-(IV), (©)-(1), (D))
() (AH), B)-0), (©)-{V), (D))
(3) (AR, (B)-(I, (C-(IV), (D)-()
(4)  (AHIV), (BHI), (©)-(T), (D)-(1)
Options :

87827094949. 1
87827094950. 2
87827094951. 3

87827094952. 4

Question Number : 103 Question Id : 87827024040 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Tt - 191 Felt - 11 % 919 et ifsie
Tl - 1 ot - 11

(A) g % A B () i wiee 5 7 e

(B) g i sifgfcd () = 1 FobH ST

(C) Hfagmi ol &R H () Vg3 o forwei ol qera W 1o e
(D) Wied # A (1V) T fofy & S ofterd

) feu T fased § 9 Wt S & T o

(1) (A}, (B)-(IV), (-0, (D)-(I)

2) (AT, B)-0), (CHIV), D)

LL1), (B)-(

1), (B)-( I
(3) (AR, B)-(1), C-1V), (D}-0)
(4)  (AHIV), (BT, (C)-(LD), (D)-(0)
Options :

87827094949. 1

87827094950. 2

87827094951. 3
87827094952. 4

Question Number : 104 Question Id : 87827024041 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Match List - I with List - I1.

List - I List - II

Social models Developers
(A) Positive interdependence (I) David Johnson
(B) Structured inquiry (I)  Robert Slavin
(C) Group Investigation (IIl) Fanni Shaftel
(D) Role playing (IV) John Dewey

Choose the correct answer from the options given below :

(1) (A)-(), (B)-(II), (C)-(1V), (D)-(IM)

(2)  (A)-(D), (B)-(1), (O, (D)-(IV)
(3)  (A)-(UD, (B)-(1D), (O-(I), (D)}-(IV)
(4)  (A)-1V), (B)-(IT), (O)-@), (D}-(I)

Options:

87827094953. 1
87827094954. 2
87827094955. 3

87827094956. 4

Question Number : 104 Question Id : 87827024041 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



et - 10l geit - 11 & 919 fiem wifse
et - 1 et - 11

T s frmtar
(A) FHNHF TR FHET () efae SEH
(B) H{EAIH W4 () & wifed
(C) FHE waum () =T IR
(D) yfert Farte (V) i fedt
1= fqu u fashedi | ¥ e SUX 1 997 Hifau
(1) (A1), (B)-(IT), (O-(1V), (D)-(II)
(2) (A1), B)-(), (O, (D}-(IV)
(3)  (A)-(III), (B)-(II), (C)-(T), (D)}-(IV)
(4)  (A)-(IV), (B)-(II), (O)-I), (D)-(IT)
Options :

87827094953. 1
87827094954. 2
87827094955. 3

87827094956. 4

Question Number : 105 Question Id : 87827024042 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Match List - T with List - II.

List - I List - II
Concepts Descriptions

(A) Personalised and customised () Creating social networks of learners and
educational opportunities educators

(B) Open option based learning () Allowing learners to choose from a variety of

plateforms and learning opportunities as per
their choice
(C) Building learning communities () Aligning skills with demands of the job market
(D) Harmonising skills with potential ~ (IV) Allow learners to choose from variety of
employers courses

Choose the correct answer from the options given below :

(1) (AMD, (BK(T), (CHID, (DHIV)
(2) (AR, (B-LV), (D), (D)
(3) (AR, (BHIV), (O, (OHI)
(4 (AH1), (BRI, (CHIV), (DM

Options:

87827094957. 1
87827094958. 2
87827094959. 3

87827094960. 4

Question Number : 105 Question Id : 87827024042 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



ol - [ Tl - 11 91 o e
Tl -1 T -1

e U
A) oo o e W () At o e o sl o
ECh
B falufrm et () e @ o TR e g Seuie s
) YAV 7 1 e

() s e 1 FAo () 76 Wb 1 91 % ST I ST o
(D) enfw ol o WA (1V) At 8 o v o e 4 T A
o Qe o &

A o T foked H § W S o o @i
(1) (A¥{D) (BHI), (CHI), DHV)

(2)  (A¥{), (B)-(V), (CHD, (DAIm)

(8)  (AX{, (BHV), (C-0) (OHD)

(&) (A¥{D), (BHI), (CHIV), (DAII)
Options :

87827094957. 1
87827094958. 2
87827094959. 3

87827094960. 4

Question Number : 106 Question Id : 87827024043 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Match List - [ with List - IL.

List - I List - 11
Programmes Ministry

(A) Deen Dayal Upadhyay ()  Ministry of Housing and urban affairs
Grameena Yojana (DDU-GKY)

(B) Deen Dayal Antyodaya Yojana () Ministry of textiles
National Urban Livelthood mission
(DAY-NULM)
(C) Upgrading the skills and () Ministry of Rural Developement
Traianing in Traditional arts/crafts
for development (USTTAD)
(D) Samarth (IV) Ministry of Minorities
Choose the correct answer from the options given below :

(1) (AR, (B, (C)-(IV), (D))
(2) (AH), (B-{ID, (CHI), (DHIV)
(3)  (AHID, (BHTD), (C)-(0), (DHIV)
(4) (AR, (BK), (CHIV), (DHT)
Options:

87827094961. 1
87827094962. 2
87827094963. 3

87827094964. 4

Question Number : 106 Question Id : 87827024043 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



o - 1l Telt - 11 % 919 foer ifse
et - 1 et - 11
(A) S IE WA U A () ST G ekt ke WA
EEPEEEE S
(B) T T A ASHI-TLE () a HAeH
TRl sAsifesrr e
(TR - T T )
(C) Teehr &g wrwfer el freg (1) reiton fers wser
2 W 1 S
EREEERS)
(D) =" (IV) Seagers waerd
el U Tu foeedl H ¥ Wt ST B T HIfC ;
(1) (A, (B)-(1, ©)-(IV), (D)-(0)
(2) (A1), (B)-(I), (C)-(I), (D}-(IV)
(3) (A, (B)-(ID, ©)-(D), (D}-IV)
(4) (A, (B)-(I), (C}-1V), (D))
Options:
87827094961. 1
87827094962. 2
87827094963. 3

87827094964. 4

Question Number : 107 Question Id : 87827024044 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Match List - I with List - II.

List - I List - I
Theorists Concept (s)
(A) Ivan Illich (I)  The laboratory
(B) John Dewey () Education and social order
(C) Paulo Friere (IIT) Deschooling society
(D) Bertrand Russell (IV) Banking Concepts of education

Choose the correct answer from the options given below :

(D) (A)-U), B)-0), ©-1V), (D))

(2) (A, (B)-(1), (O-(1V), (D)-(T]
() (AHD), (B)-(I), (O)-(), (D}IV)
(4) (AT, (B)-(I), (©)-(1), D}IV)

Options:

87827094965. 1
87827094966. 2
87827094967. 3

87827094968. 4

Question Number : 107 Question Id : 87827024044 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



o - 1l Telt - 11 % 919 foer ifse

-1 -1I

(A) M oo () SR e

(B) it <l ) foren sl G w9
(C) die Wi (IIT) WSt <l foermer | sl
(D) ¥E Wa (1v) e =t Sfe Heheae
e feu U foekeqi § ¥ W I F T HIC

(1) (A, B)-(1), (C-(IV), (D)-(I)

(2) (A, (B)-(D), (O-(IV), (D)-(I)

(3) (A1), (B}-(I), (C)-(ID), (D}-(IV)

(4) (A, (B)-(1D, ©)-(0), (D}-IV)

Options:

87827094965. 1
87827094966. 2
87827094967. 3

87827094968. 4

Question Number : 108 Question Id : 87827024045 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Match List - I with List - IL

List - I List - II
(A) Non learning ()  Before birth learning
(B) Action learning (II) Contemplative learning
(C) Reflective learning (IT) Situation for granted
(D) Pre-conscious learning (IV) Bodily learning
Choose the correct answer from the options given below :

(1) (A)-(II), B)IV), (O)-(I), (D)-(0)
(2) (A1), (BL), (OH(1V), (D)-(L)
(3)  (A)-(1V), (B)(II), (C)-(II), (D)-(T)
(4) (A1), B)-1), (O-IV), (D)-(I)



Options :

87827094969. 1
87827094970. 2
87827094971.3

87827094972. 4

Question Number : 108 Question Id : 87827024045 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Teit - 11 et - 11 & 919 foel Sifse
el - 1 Tt - 11

(A) TrR-afimH () SHYE e

(B) M 3tfErTy () fermesiier sifems

(C) Hfewsl sifepry (II1) fearfd 1 S | BT
(D) U Hadd ARy (V) <fesh sifirmm

= feu T forehedl § & WEl IR 1 T HIWC ;

(1) (A, (B)-(IV), (O-(), (D)-(1)

(2) (A0, (BRI, (O-(1V), (D)-(II)

(3)  (A-IV), (B)-(ID), (C)-(IT), (D)-(T)

(4) (A1), B)-1), (O-(IV), (D)-(II)

Options:

87827094969. 1
87827094970. 2
87827094971. 3

87827094972. 4

Question Number : 109 Question Id : 87827024046 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0



Correct Marks : 2 Wrong Marks : 0
Match List - I with List - II.

List - I List - II

Models Developers
(A) Conceptual systems theory (I)  Carl Rogers
(B) Cognitive Development (II) Robert Gagne
(C) Conditions of learning (III) Jean Piaget
(D) Non directive teaching (IV) David Hunt

Choose the correct answer from the options given below :

(1) (A)IV), (B)-(1D), (O)-(), (D)-(D)
(2) (A, (B)-(IV), (O)-(I), (D)-(II)
(3)  (A)-(ID), (B)-@), (O-(I), (D)-(IV)
(4) (A1), (B}-(I), (O-IV), (D)-(I)
Options :

87827094973. 1
87827094974. 2
87827094975. 3

87827094976. 4

Question Number : 109 Question Id : 87827024046 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



it - 10l it - 11 & |19 foerm sifse
gl - 1 gt - 11
Aiset

(A) HeheyareHs gome fagid (I)  hlel T
(B) HIHHSF formmy () & TR
(C) AfeH =l od (II1) =i s
(D) fCuIeHs: 31=AT9A (Iv) fae g
=i feu U foeshedl | 9 WEl STl =9 il

(1) (A)-(1V), (B)-(I1D), (O)-1I), (D)-(I)

(2)  (A)-(ID), (B)-(IV), (O)-0), (D)-(I)

(3) (A)()()()()(HI)()(W)

(4)  (A)-(D), (B)-(IN), (O)-(IV), (D)-(Im)

Options :

87827094973. 1
87827094974. 2
87827094975. 3
87827094976. 4

Question Number : 110 Question Id : 87827024047 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Given below are two statements :

Statement (I) : Integrative learning competence consists of critical thinking development,
knowledge creation, and higher order thinking,

Statement (I1) : Social professional competences does not include competences regarding civic
knowledge and engagement, relating well to others, interpersonal contact.

In the light of the above statements, choose the most appropriate answer from the options given
below :

(1) Both Statement I and Statement II are correct

(2) Both Statement I and Statement II are incorrect
(3) Statement 1is correct but Statement II is incorrect
(4) Statement I is incorrect but Statement IT is correct
Options:

87827094977. 1

87827094978. 2

87827094979. 3

87827094980. 4

Question Number : 110 Question Id : 87827024047 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

A ¢ Fo feu MU g -
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®O (1) T St A i 6 4 & o8 A § Sl e 3 & fatver,
71 9 30 W O, o W |

TR A o i A, el G0 0 el 4 T g A o A

(1) O (1) SRR (1) S

(2) TR (1) SRR (11) 3R e

B) T (1) T ¢ i e (1) TR

(4) TR (1) T &, e el (1) W6 %




Options :

87827094977. 1
87827094978. 2
87827094979. 3

87827094980. 4

Question Number : 111 Question Id : 87827024048 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 2 Wrong Marks : 0

Given below are two statements :

Statement (1) : NEP, 2020 is going to get integrated with chat GPT 4. Therefore, there will be
real time updates in the policy.

Statement (1) : Integrating NEP, 2020 with chat GPT is a perfect example of life long learning
process.

In the light of the above statements, choose the most appropriate answer from the options given

below :

(1) Both Statement I and Statement II are correct

(2) Both Statement I and Statement II are incorrect

(3) Statement 1 is correct but Statement II i incorrect

s

4)  Statement I 1s incorrect but Statement II is correct

Options:

87827094981. 1
87827094982. 2
87827094983. 3

87827094984. 4

Question Number : 111 Question Id : 87827024048 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



) F foU T g

FR(D): TN 2000 T 9 ¢ RANE 407 o, o A avefecs ww 7 o 2
O (IT): TIEH, 2000 R <R 092 F v F, At o O e o A SR g
IR R o T §, e 60 T Foredt 9 T R 3 7 < i

(1) e (1) SR HR (1) 3 €

(2) T (1) 4% Ho (11) 3 e

(3) R (1) T 3, e o (1) TR

(4) R (1) T €, i o (1) 1

Options:

87827094981. 1
87827094982. 2
87827094983. 3

87827094984. 4

Question Number : 112 Question Id : 87827024049 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 2 Wrong Marks : 0

Given below are two statements :

Statement (I) : Literacy changes future species of human being

Statement (I1) : Literacy changes society

In the light of the above statements, choose the most appropriate answer from the options given
below :

(1) Both Statement I and Statement II are correct

(2) Both Statement I and Statement II are incorrect

(3) Statement I s correct but Statement II is incorrect

4

4)  Statement 1 is incorrect but Statement II is correct

Options :
87827094985. 1

87827094986. 2

87827094987. 3



87827094988. 4

Question Number : 112 Question Id : 87827024049 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

EEGERR RIS

YA (I) : S HTE 1 W i YA 1 9Rafdd g

I (I1) : T G il TR el 2

S Y o el H, Al U U fohed § 4 T g I ] T I
(1) T (1) S e (II) 31 e €

(7) 9 (1) S e (1) G Terd ¢

R (1) F& &, wleht e (II) Terd @

il

() o (I) T &, ikl e (1) W &

Options :

87827094985. 1
87827094986. 2
87827094987. 3

87827094988. 4

Question Number : 113 Question Id : 87827024050 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Given below are two statements :
Statement (1) :  Adults learn best when the self is not under threat.
Statement (1) : Adults learners have not developed their own learning styles.

In the light of the above statements, choose the most appropriate answer from the options given
below :

(1) Both Statement I and Statement II are correct

(2) Both Statement I and Statement II are incorrect
(3) Statement 1is correct but Statement II is incorrect
(4)  Statement Iis incorrect but Statement I1 s correct
Options:

87827094989. 1

87827094990. 2

87827094991. 3

87827094992. 4

Question Number : 113 Question Id : 87827024050 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

T w9 fg e g
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HOR (1) g et 3 o g & sifepm oent o forag 60 fopm 21
SR A o i H, F9 50T foaehedl § 9 Waw e I ] 99 IS
(1) e (1) SH () I 7@ &

(2) e (1) A B (II) SHI Tewd

(3) O (1) T ¢, TR H (1I) T @

(4) R (1) e &, TifeR R (IT) Wl €

Options :

87827094989. 1

87827094990. 2

87827094991. 3



87827094992. 4

Question Number : 114 Question Id : 87827024051 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Given below are two statements : one is labelled as Assertion (A) and the other is labelled as
Reason (R).

Assertion (A) : Experience is the foundation of learning;

Reason (R) :  Experience involves being conscious of the world.

[n the light of the above statements, choose the most appropriate answer from the options given
below :

(1) Both (A) and (R) are correct and (R) is the correct explanation of (A)
(2) Both (A) and (R) are correct but (R) is not the correct explanation of (A)
(3) (A)is correct but (R) is not correct

(4) (A) is not correct but (R) is correct

Options :

87827094993, 1

87827094994 2

87827094995. 3

87827094996. 4

Question Number : 114 Question Id : 87827024051 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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(1) (A) &R (R) S T €, &R (R), (A) 3 T o &

() (A) 3 (R) S ¥ T, 4R (R), (A) ! T €N F @

(3) (A)¥ & el (R) A &

(4) (A) 5 & W (R) ¥ 7

Options:

87827094993. 1

87827094994. 2
87827094995, 3

87827094996. 4

Question Number : 115 Question Id : 87827024052 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Given below are two statements : one is labelled as Assertion (A) and the other is labelled as
Reason (R).

Assertion (A) : Non-consideration occurs when we actually experience disjuncture
Reason (R) :  Experiences occuring as a result of disjuncture

In the light of the above statements, choose the most appropriate answer from the options given
below :

(1) Both (A) and (R) are correct and (R) is the correct explanation of (A)

(2) Both (A) and (R) are correct but (R) is not the correct explanation of (A)
(3) (A) s correct but (R) is not correct
4

4)  (A) is not correct but (R) is correct

Options :

87827094997. 1



87827094998. 2
87827094999. 3

87827095000. 4

Question Number : 115 Question Id : 87827024052 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
Tﬁ%lﬁwmﬂﬁ%:WW{A&SHHMA)%ﬁ{ﬂﬂﬂ%W(Rea&onR)?Wﬁ
VR (A):  &-TermT I 1 € 5 & el H o 1 e o6 )
FAAR): &, fomo o oM & &9 5 30 @ W €

SUIR] o o SR H, el 130 T foedl § W S o 7 i

(1) (A) 3 (R) & 0 &, 4 (R), (A) 3 T =90 &

() (A) 3 (R) S §9 T, 4R (R), (A) ! T €N Tl @

(3) (A) T & elf (R) 9 &

(4) (A) I 2 ol (R) 69 2

Options :

87827094997. 1
87827094998. 2
87827094999. 3

87827095000. 4

Question Number : 116 Question Id : 87827024053 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Given below are two statements : one is labelled as Assertion (A) and the other is labelled as
Reason (R).

Assertion (A): The specific curriculum goals in life long learning i to provide activities that
incorporate real-world examples/settings/applications for adult learning,

Reason (R) :  Thisis required to foster the learner’s ability and readiness toset their own learning
goals to plan, monitor, and evaluate their own progress,

In the light of the above statements, choose the most appropriate answer from the options given
below :

(1) Both (A) and (R) are correct and (R) is the correct explanation of (A)

2) Both (A) and (R) are correct but (R) is not the correct explanation of (A)
3) () s correct but (R) is not correct

)

(
[
4

(A) 15 not correct but (R) is correct
Options:

87827095001. 1
87827095002. 2
87827095003. 3
87827095004. 4

Question Number : 116 Question Id : 87827024053 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options:

87827095001. 1

87827095002. 2

87827095003. 3

87827095004. 4

Question Number : 117 Question Id : 87827024054 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Evaluation is an integral part of a training programme. It can be conducted at various levels
Choose the correct combinations from given options,

(A) Reaction : How trainees reacted to training

(B) Knowledge:  Knowledge enhancement because of the training

(C) Behaviour:  Behavioral change as a result of the training,

(D) Results: Analyzing the outcomes on the basis of predetermined benchmarks,
() Need analysis : Assessing the areas reading attention for training

Choose the correct answer from the options given below :
(1) (4) () (C) Only

(2) (), (), (E) Only
(3) (A), (C), (E) Only
(4) (), (D), (E) Only
Options :

87827095005. 1
87827095006. 2
87827095007. 3
87827095008. 4

Question Number : 117 Question Id : 87827024054 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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(1) 9 (A) @), (O
(2) % (A), (B) (E)
(3) A (A), () (B)
(4) @ (C), (D), (B
Options :
87827095005. 1
87827095006. 2

87827095007. 3

87827095008. 4

Question Number : 118 Question Id : 87827024055 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Which of the following instructional approaches are used for knowledge creation ?
A)  Face to face instructions

B) Promoting anchored learning

)

(
(
(C) Classroom demonstration

(D) Integrating online activities

(E)  Combining asynchronous and synchronous interactions
Choose the correct answer from the options given below :

(1) (A). (B) () Only

() (B), (D), (E) Only
(3) (B), (C), (D) Only
() (©), (D), (E) Only
Options:

878270950009. 1
87827095010. 2
87827095011. 3

87827095012. 4

Question Number : 118 Question Id : 87827024055 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options:

878270950009. 1
87827095010. 2
87827095011. 3
87827095012. 4

Question Number : 119 Question Id : 87827024056 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Stating objectives is important in the sense that it must helps in selecting :
(A) Places of learning

(B) Learning Experience

(C) Teaching Aids

(D) Student facilities

(E)  Guiding Teaching

Choose the correct answer from the options given below :
1) (A)and B Only

(2) (€ and (D)

(3) (B) and (E) Onl

(4) (D)an ()01113’
Options:

87827095013. 1
87827095014. 2
87827095015. 3

87827095016. 4

Question Number : 119 Question Id : 87827024056 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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2) & (O 4 (D)

3) A (B) & (E)

(4) A (D) &R ()

Options :

87827095013. 1
87827095014. 2
87827095015. 3

87827095016. 4

Question Number : 120 Question Id : 87827024057 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Which of the following are the examples of synchronous mode of communication and learning ?
(A) email

(B) Watsapp

(C) Telephone call
(D) Google meefs
(E) Facebook
Choose the correct answer from the options given below :
(1) (C)and (D) Only

B) and (E) Only

Options:

87827095017. 1
87827095018. 2
87827095019. 3

87827095020. 4

Question Number : 120 Question Id : 87827024057 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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(A) T-Hd

(B) =RHUT

(C) fa®wH hid
(D) T
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=1 e e forehedi § ¥ Hed SUgE ST F1 T HIfC ;
(1) e (C) 3R (D)
(2) W (B) ¥R (E)
(3) e (D) ¥R (E)
(4) T (A) 3R (E)
Options :

87827095017. 1
87827095018. 2
87827095019. 3
87827095020. 4

Question Number : 121 Question Id : 87827024058 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Identify the forms of ‘Capital’ discussed by Pierre Bourdieu .
(A) Economic

(B) Social capital

(C) Emotional capital

(D) Cultural capital

(E) Symbolic capital

Choose the correct answer from the options given below :
(1) (A), (B) (D), (E) Only

(2)  (B), (C), (D), (E) Only
(3)  (A) (B), (C), (D) Only
(4)  (A), (B), (C), (E) Only
Options:

87827095021. 1
87827095022. 2
87827095023. 3
87827095024. 4

Question Number : 121 Question Id : 87827024058 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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(A)  sTfder gt

(B) @ISR YT
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A= few T fashedi # 9 Herd SUTer ST HI T FHIfT :
(1) ad (A), (B), (D), (E)

(2) %= (B), (), (D), (B)
(3) HF (A), (B), (), (D)
(4) T (A), (B), (), (B)
Options:

87827095021. 1
87827095022. 2
87827095023. 3
87827095024. 4

Question Number : 122 Question Id : 87827024059 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



The Law of ‘Pragnanz’ in which there are aspects of perception :
(A) Proximity

(B) Similarity

(C) Equality

(D) Continuity

(E) Consistancy

Choose the correct answer from the options given below :
(1) (A), (B) and (C) Only

() (A), (B) and (D) Only
(3) (B), (C) and (D) Only
(4) (), (D) and (E) Onl
Options:

87827095025. 1
87827095026. 2
87827095027. 3

87827095028. 4

Question Number : 122 Question Id : 87827024059 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options:

87827095025. 1
87827095026. 2
87827095027. 3

87827095028. 4

Question Number : 123 Question Id : 87827024060 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



The aims of curriculum of continuing education includes :
A) Access to common culture
B) Expressive criteria learning performances

(
(
(C) Unity of response to diversity of need
(D) Stressing individual expression

(

E) Subject structures reflecting forms of knowledge
Choose the correct answer from the options given below :

(1) (B), (C) and (E) Only
(2)  (A) (©) and (E) Only
(3) (A) (B) and (C) Only
(4) (Q), (D) and (E) Only
Options:

87827095029. 1

87827095030. 2

87827095031. 3

87827095032. 4

Question Number : 123 Question Id : 87827024060 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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(1) ad (B), (C) 3R (E)
(2) = (A), (C) ¥R (E)
(3) HE (A), (B) 3R (C)
(4) %ad (C), (D) ¥R (E)
Options :
87827095029. 1
87827095030. 2

87827095031. 3
87827095032. 4

Question Number : 124 Question Id : 87827024061 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Which of the following are the components of a social theory of learning ?
A)  Activity based learning

B) Community

D) Identity
E) Practice
Choose the correct answer from the options given below :
(1) (A), (C) and (D) Only
B), (D) and (E) Only
)

(
(
(C) Mastery learning
(
(

Options:

87827095033. 1
87827095034. 2
87827095035. 3

87827095036. 4

Question Number : 124 Question Id : 87827024061 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options:

87827095033. 1
87827095034. 2
87827095035. 3

87827095036. 4

Question Number : 125 Question Id : 87827024062 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Which of the following statements are correct ?
(A) The first United Nations Population Conference’ held in 1954 in Rome

(B) India is the first country in the world to have a state population policy favouring family
planning to limit the size of famly

(C) Population education is a life long process
) Population problem is a man-made problem
(E) In 1970, government of India launched first national population policy
Choose the correct answer from the options given below :
(1) (4 (B) (C)and (D) Oy
| ()()()()md()om
) (8),(C) (D) and (E} Onl
) |

§) (A) B and 0 Only

3
Options :

87827095037. 1
87827095038. 2
87827095039. 3

87827095040. 4

Question Number : 125 Question Id : 87827024062 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

87827095037. 1
87827095038. 2
87827095039. 3

87827095040. 4

Question Number : 126 Question Id : 87827024063 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



The NEP 2020 document states that the curriculum framework for adult education will include
(A) Foundation literacy and numeracy
(B) Critical life skills
(C) Extension education
(D) Vocational skills
(E) Basic education
Choose the correct answer from the options given below :
(1) (A) (), (0) and (B Oy

(2) (A) (), (D) and (E) Only
(3) (A) (B), (D) and (E) Only
(4) (&) (B) (C) and (D) Only
Options:

87827095041. 1
87827095042. 2
87827095043. 3
87827095044. 4

Question Number : 126 Question Id : 87827024063 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :
87827095041. 1
87827095042, 2

87827095043. 3

87827095044. 4

Question Number : 127 Question Id : 87827024064 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Identify the characteristics of ordinal scale :

(A) Distances unequal

(B) Rank with equal distance

(C) Numerical degrees

(D) Including dichotomies

(E) Ranks on a scale

Choose the correct answer from the options given below :
(1) (B), (O) and (D) Only

Options:

87827095045. 1
87827095046. 2
87827095047. 3

87827095048. 4

Question Number : 127 Question Id : 87827024064 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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= feu TTu faredi # | Word SUgeR I 1 9 HIfST

(1) a (B), (C) ¥R (D)
(2) @ (B), (D) 3R (E)
(3) ad (A), (C) ¥R (E)
(4) &= (C), (D) ¥R (E)

Options:

87827095045. 1
87827095046. 2
87827095047.3

87827095048. 4

Question Number : 128 Question Id : 87827024065 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Which of the following are latent construct of research ?
(A) 35°C Temperature

(B) 55 Kg Weight

(C) 40 Years Age

(D) 50 Mathematic Score

(E) 145 IQ

Choose the correct answer from the options given below :
(1) (A) and (B) Only

B) and (C) Only

Options:

87827095049. 1
87827095050. 2
87827095051. 3

87827095052. 4

Question Number : 128 Question Id : 87827024065 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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(2) 9 (B) &R (C)
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(4) ad (D) 3R (E)
Options :

87827095049. 1
87827095050. 2
87827095051. 3

87827095052. 4

Question Number : 129 Question Id : 87827024066 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Intermediate skills are :

(A) Desktop publishing

(B) Digital Graphic design
(C) Word Processing

(D) Digital Entrepreneurship
(E) Digital Marketing
Choose the correct answer from the options given below :
(1)  (A), (©), (D) Only

(2) (A), (E), (©) Only

(3) (A) (B), (E) Only

(4) (A) (B), (C) Only
Options:

87827095053. 1

87827095054. 2

87827095055. 3

87827095056. 4

Question Number : 129 Question Id : 87827024066 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



(A) <SERAT TfeeAfS

(B) TefSewt miftrer fesirza
(C) =< grEfET

(D) fefSea SEweieda
(E) fefSeet Amehfemn

= feu e faredi # | Wod SUgeR I 1 99 HIfST
Fad (A), (C), (D)

Options:

87827095053. 1
87827095054. 2
87827095055. 3
87827095056. 4

Question Number : 130 Question Id : 87827024067 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Criteria for effective organizing group of learning experiences are :
(A) Objective

(B) Continuity

(C) Teaching

(D) Sequence

(E) Integration

Choose the correct answer from the options given below :
(1) (A) (B)and (C) Onl

(2) (B), (D) and (E) D'nh,r

(3) (©), (D) and (E) Only

(4)  (4), (C) and (D) Only

Options:

87827095057. 1

87827095058. 2

87827095059. 3

87827095060. 4

Question Number : 130 Question Id : 87827024067 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



ST Sl 3 e & T ) A T 6 f R

(A) i

(B) T

(C) Treror

(D) A

(E) §HHA

A1 fqu T fehedi H 4 e S0 I hl 93 iU
(1) 3 (A), (B) 3R (C)
(2) 3 (B), (D) $R (E)
(3) a@ (C), (D) ¥ (E)
(4) ad (A), () #R (D)
Options :

87827095057. 1
87827095058. 2
87827095059. 3

87827095060. 4

Question Number : 131 Question Id : 87827024068 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



What models of Blending exists ?

(A) Course level Blending

(B) Mentoring level Blending

(C) Activity level blending

(D) Learner level blending

(E) Programme level blending

Choose the correct answer from the options given below :

(1) (A) (B) and (C) Only

B), (C) and (D) Only

E) Only
) Only

Options:

87827095061. 1

87827095062. 2

87827095063. 3

87827095064. 4

Question Number : 131 Question Id : 87827024068 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



gfmgu & ®F 9 Hied 19 § 2

(A) TISTRH T L

(B) UMYl &iX w1 WA

(C) ifafafy T =1 i

(D) Torened @ =1 wfmgo

(E) hIshH & ol iy

= feu e faeredi # | Word SUgeR I 1 9 HIfST
(1) Fa (A), (B) 3 (C)

(2) Had (B), (C) 3R (D)
(3) “hed (C), (D) ¥R (E)
(4) e (A), (O) ¥R (E)

Options:

87827095061. 1
87827095062. 2
87827095063. 3

87827095064. 4

Question Number : 132 Question Id : 87827024069 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



When a person aquires knowledge and skills throughout their life, whether formally or informally,
itis an example of ;

(A) Class room education
(B) Life long learning
(C) Academic learning
(D) Confinuous learning
(E) Continuous Education

Choose the correct answer from the options given below :
(1) (A) (C) and E) Only

(2) (B)and (C)Onl

3) (B)and (D )Only
(4)  (B), (D) and (E) Only
Options :

87827095065. 1
87827095066. 2
87827095067. 3
87827095068. 4

Question Number : 132 Question Id : 87827024069 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options:

87827095065. 1
87827095066. 2
87827095067. 3

87827095068. 4

Question Number : 133 Question Id : 87827024070 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Activities of National Skill Developement Agency are :
A} Design and implement the National labour market Information system

B)  Develop National protocols for registeration and accreditation of private training providers

D) Operationalize National Skills Qualification Committee (NSQC) to meet its objectives

(

(

(C) List ll the action points as mentioned in the polj{:y on which action is required
(

E

—

The PIU will also conduct monthly review of the action points and nudge them i the progress
is not as expected

Choose the correct answer from the options given below :
(1) (A), (C) and (E) Only

2) (A) (5 and (D) Only
(3) (A), (B and () Only
(4)  (A) (D) and (E) Only
Options :

878270950609. 1
87827095070. 2
87827095071. 3
87827095072. 4

Question Number : 133 Question Id : 87827024070 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



WWWW%WW%:

(A) T R 1R S YOI 6 o i e

(B) ol e ot e Rl e e ] T I A

(C) 1 s 97 -l 1 el T Tt A vt 1

(D) 4 ST a1 ) T I e W (T O o ) 9 el e

(F) e 3 A ffg 1 s it < i 90 2 Tt 2 e ) €9 R 3 e 4 ¢
T e T et R SR S o T

() (4), (C) 3 (F)

() (A), B (D)
(3) % (4], (B) S (C
(4 % (A), 0) R

Options:

am ()
9 )
87827095069. 1
87827095070. 2

87827095071. 3
87827095072. 4

Question Number : 134 Question Id : 87827024071 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



What are the features of chat-GPT 3.5.
A) Deep learning
B) Chat GPT is trained in using natural language processing (NLP)

(
(
(C) Supports life long learning process
(D) Developed by google

(

E) GPT stands for generative pre-trained transformed
Choose the correct answer from the options given below :

(1) (A), (B), (C), (E) Onl

(2) (A) ) (C) D) (E )Orﬂv
(3) (&), B), (D), (E) Only

(4)  (B), (Q), (D) Only
Options:

87827095073. 1
87827095074. 2
87827095075. 3

87827095076. 4

Question Number : 134 Question Id : 87827024071 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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(A) TR st

(B) o2 SIS e eivelel GrfeT (T Tet ) o1 TR & W e ¢
(C) % Sira v afermd gfeean =1 guel o 8
(
(

E) Sl &1 31 € - Sridfed §i-28 e
At fau U formedl § ¥ e SR I H T RIS ;

Options:

87827095073. 1
87827095074. 2
87827095075. 3
87827095076. 4

Question Number : 135 Question Id : 87827024072 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Choose the correct option

(A) Sustainable Developement goal suggest life long learning and adult education

(B) Traditional learning paradigms, where knowledge was predominantly derived from books,
are evolving rapidly

(C) Positivism discusses the responsibility of social sciences for value education

(D) JAM Trinity may assist in curbing

(E) Sanskritization refers to learning vedas

Choose the correct answer from the options given below :
(1) (A),(C) (E) Only

(2) (&) (), () Only
(3) (A}, (B), (D) Only
(4 (8), (D), (E) Only
Options :

87827095077. 1
87827095078. 2
87827095079. 3

87827095080. 4

Question Number : 135 Question Id : 87827024072 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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(A) ¥, T cie el < ¢ - it i e & g e

(B) e Ao SR, ) 9 e % W e S Fge ¢ o o 4 foem @ v €
(C) FeRFae, e e o et S fog 1 et a1 7l e ¢

(D) JAN (4UT) T YR e H TR ot 51 2|

(E) Srepfeamen, 36 3 afim = wefifs £

1 o T foehel R S S 1 9 I

(1) ¥ (4), () )

Q) A (A),(B) B
B) @ (4) B) [0)
) @ @) [0) ()
Options :
87827095077. 1
87827095078. 2

87827095079. 3
87827095080. 4

Question Number : 136 Question Id : 87827024073 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



The techniques of PRA are divided into four categories. Identify the four categories of the techniques
involved in PRA.

(A) Group dynamics

(B) Rapport

(C) Sampling

(D) Interviewing

(E) Visualisation

Choose the correct answer from the options given below :
(1) (4) @) (C) 0) Oy

@) (4) ) ) (5 Oy

(3) (&) (C), (D), (£) Only

(4) (8) (C) (D) (E) Only

Options :
87827095081. 1
87827095082. 2

87827095083. 3
87827095084. 4

Question Number : 136 Question Id : 87827024073 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options:

87827095081. 1
87827095082. 2
87827095083. 3

87827095084. 4

Question Number : 137 Question Id : 87827024074 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Identify the characteristics of life long education :
A) A process of accomplishing personal development
B)  Process of social development

(
(
(C) Process of profession development
(D) 1tis a part of formal education

(

E) Itenhances the quality of life of both individuals and their collectivities
Choose the correct answer from the options given below :
(1) (A), (B), (C), (D) Only

(2) (&), (B), (), (E) Only
(3)  (B),(C), (D), (E) Only
(4) (A)(©), (D), (E) Only
Options:

87827095085. 1
87827095086. 2
87827095087. 3
87827095088. 4

Question Number : 137 Question Id : 87827024074 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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(A) Sl Tohr sl Ulshan 1 FoareA et |
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(D) I% sl fret &1 3 7

(E) 9 Aokl SR 37k THgI <l o Sita ol Juerdl | 3fg Fa 2 |
1 fau U foeedi § § Hew® IUgeR S H T FIW ;

(1) %3 (A), (B), (©), (D)
(2) @ (A), (B), (), ()
(3) ®ad (B), (C), (D), (E)
(4) ®ad (A), (), (D), (E)
Options :

87827095085. 1
87827095086. 2
87827095087. 3

87827095088. 4

Question Number : 138 Question Id : 87827024075 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Competencies required for adult educators to work with the people in the field includes :
(A) Interpersonal skills

(B) Self management

(C) Reasoning

(D) Decision making

(E) Team training

Choose the correct answer from the options given below :
(1) (4), () (0) and (B)Only

) (4),(0) (D) and (B On
) (4),(8) (0) and (D) Ov
)

(
3
(4 (). (C) (D) and (E Only

|
Options:

87827095089. 1
87827095090. 2

87827095091. 3

87827095092. 4

Question Number : 138 Question Id : 87827024075 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



&1 H A 1 ek el (STewehi) % B o o stufid Hemd @
A)  SAdTHTE B

(
(B) ¥E-JdEH
(C) ehuf
(D) fva ewe
(E) g Wfe
A few U foreredi # | HoR TG I Hl T i
(1) 9 (A), (B) (C), ¥R (E)
(2) %4 (A), (C), (D), ¥ (E)
(3) 4 (A), (B), (C), ¥ (D)
(4) F (B), (C), (D), ¥ (E)
Options :

87827095089. 1
87827095090. 2
87827095091. 3
87827095092. 4

Question Number : 139 Question Id : 87827024076 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



The sequence of Report writings in a PhD.thesis :
A) Title, abstract

B) Introduction, objectives, Hypothesis, review of literature

(

(

(C) Research design, data collection, Analysis
(D) Results, interpretation, Discussion, Summary
(

E) References/Bibliography
Choose the correct answer from the options given below :

(1) (A), (©), (D), (E), (B)

(2) (A), (D), (E), (B), (©)
(3) (&), (B) (Q) (D), (E)
(4) (A) (E) (B), (D), ()
Options:

87827095093. 1
87827095094. 2
87827095095. 3

87827095096. 4

Question Number : 139 Question Id : 87827024076 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



(A) M, |R
(B) WA, 3§34, FTeRheUHT, Hifecd i GHien
(C) T{er@r fHiu, iRl Hehatd, fageyo
(D) uftums, fAa=m, ==, gri
(B) W/
= feu T ferehedi § & Werd SUFER I H T HI(C :
(1) = (A), (), (D), (E), (B)
(2) ad (A), (D), (E), (B), (O)
(3) = (A), (B), (O), (D), (E)
(4) I (A), (E) )
Options:
87827095093. 1
87827095094, 2

87827095095. 3
87827095096. 4

Question Number : 140 Question Id : 87827024077 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Match List - I with List - IL
List -1 List - II
Theorists Books
(A) DPeter Jarvis ()  Reading Brain
(B) Paulo Freire (II
(C) Stanislas Dehaene |
(D) Maryomne wolf (IV) Pedagogy of oppressed

) Proust and Squid
Il) Adult education and lifelong learning

Choose the correct answer from the options given below :

(1) (A, B)-I), (C)-(1), (D}(IV)
5

(2)  (AHIV), (BHD), (OAIL), (DI
(3) (A1), B)-(D), ©)-(1V), (D)-{0)
(4) (A}, B}-1V), (©-(1), (D)-(I)

Options :

87827095097. 1
87827095098. 2
87827095099. 3
87827095100. 4

Question Number : 140 Question Id : 87827024077 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



o - 1l Telt - 11 % 919 foer ifse
et - 1 -1I

ey T
(A) TR Rfag () A
(B) TGl B () WEE TS WaEe
(C) wigay ST (II) TSR TR TS ARl et
(D) HHITH dic (IV) USFIFT S e
1 fow T foreredi | Word ST I 1 T I :
(1) (A)-(D, B)-(I1), ©-(1), (D}-IV)
(2)  (AR(IV), (B)-(I), (C(II), (D)-(I)
(3) (A1), (B)-(m), (©-(IV), (D)-()
(4) (A, B)-IV), (O)-{0), (D))
Options :

87827095097. 1
87827095098. 2
87827095099. 3

87827095100. 4

Sub-Section Number : 2
Sub-Section Id : 8782701053
Question Shuffling Allowed : Yes

Is Section Default?: null

Question Id : 87827024078 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Question Numbers : (141 to 145)

Question Label : Comprehension



Read the following passage and answer the questions:

The life long learning process is a free process in the humanistic sense, where by every human
being self reliantly seeks her or his own truth of the reality in which she or he s involved. But at the
same time we have to realize that a human in the modern society is only partly an autonomous
and free personality.

We are bound to the traditions of which we are a part, the systems in which we are involved
and the hidden structures at which we are not totally aware. To become aware of these constraints
is also part of a modern learning process. And in order to do this it is important to open up
communicative possibilities, in search of the truth and human rights

Sub questions

Question Number : 141 Question Id : 87827024079 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

The reference to partly an autonomous and free personality refers to the person is :

(1) Free with his/her situations largely

2)  Free with his/her situations partly

2)
(3)  Free only if he is not autonomous
(4)  Autonomous only if he is not free

Options :

87827095101. 1
87827095102. 2
87827095103. 3

87827095104. 4

Question Number : 142 Question Id : 87827024080 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



The text refers to the urge of seeking truth of the reality is :
(1) Context based

(2) Context free
(3) Self based
(4) Self tied and context free

Options:

87827095105. 1
87827095106. 2
87827095107. 3

87827095108. 4

Question Number : 143 Question Id : 87827024081 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 2 Wrong Marks : 0
The ‘hidden structures’ in the text refers to :
(1) A way of learning
(2) A force in learning
( A barrier in learning

(

Options :

= I

)
) A result of learning

87827095109. 1
87827095110. 2
87827095111. 3

87827095112. 4

Question Number : 144 Question Id : 87827024082 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



The text indicates of a condition where in one learns to :
(1) Be aware of the restrictions of learning

(2) Be aware of the others potential

3) Be aware of the practices of learning

(4) Be aware of the outcome of the peer learning

—

Options:

87827095113. 1
87827095114. 2
87827095115.3

87827095116. 4

Question Number : 145 Question Id : 87827024083 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

The text indicates towards the role of adult lifelong educators through which of the following
Statements :

(1) Doing away with the traditions

(2) Searching for alternatives

(3)  Opening up communicative possibilities
(4) Reducing the significance of the structures
Options :

87827095117. 1

87827095118. 2

87827095119. 3

87827095120. 4

Question Id : 87827024078 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Question Numbers : (141 to 145)



Question Label : Comprehension
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Sub questions

Question Number : 141 Question Id : 87827024079 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

YTk 9 ¥/ W 3R @as SAfdde & Hey H =Af -
(1) oot feafai & stferrim: T 3 21

(2) oot feafoel | ifvrr €9 | @da S 2

(3) “hadd d el Bl & STd 9 W@ el aidl ¢

(4) Hae 79 WA eIl § 59 98 @as T8l el g |

Options :

87827095101. 1
87827095102. 2
87827095103. 3
87827095104. 4

Question Number : 142 Question Id : 87827024080 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0



Correct Marks : 2 Wrong Marks : 0

TR o STTER FeMe 1 e S i feord ot aidl € 2

(1) HeH s

(2) HeH gH

(3) EE-3nHIfE

(4) T-3UIfLd 3R Hey g

Options :

87827095105. 1
87827095106. 2
87827095107. 3

87827095108. 4

Question Number : 143 Question Id : 87827024081 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
T T 3Ty HEel w1 Sy € -
(1) 3ferTH A1 Uk 39
2) I | U &
3)  AfTH | U e
4) T Rt 9o

Options :

(
(
(

87827095109. 1
87827095110. 2
87827095111. 3

87827095112. 4

Question Number : 144 Question Id : 87827024082 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A



Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

T U ferfa st SR gem fohan wren 7 o feneff o0 -
(1) Ao =l FiHiedi & & H 376 2F1 Ffeu |

(2) EU I gHAIS F IR H T g1 =fe |

(3) SATTH =l Ugfadl % 9N A H S7eRTd Bl =fey |

(4) FHRH-ATH & qROMH F TR H HeTd 1 =0 |
Options :

87827095113. 1

87827095114. 2

87827095115. 3
87827095116. 4

Question Number : 145 Question Id : 87827024083 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

T W e W o oo o 1§ i/ sler - el 1 ek o i o Fen T ¢ -
1) R A

)
) WY S
4) A W B
Options:
87827095117. 1
87827095118. 2
87827095119. 3

87827095120. 4

Sub-Section Number : 3

Sub-Section Id : 8782701054



Question Shuffling Allowed : Yes

Is Section Default? : null

Question Id : 87827024084 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Question Numbers : (146 to 150)
Question Label : Comprehension

Read the following passage and answer the questions :

Formal education institutions can initiate a process of internal reforms to transform info life
long learning institutions, The purpose could be to become part of something bigger, responding to
the needs of diverse groups of learners, influence learner's experiences, provide increased
opportunities of professional developement to staff and improving quality of teaching and learning,
Readiness to that may require strong committment and all round participation. This shall include
internal as well as external collaborations among organization and or companies. With change in
orientation towards LLE of a primary school, it begins to offer a range of learning opportunities
extending beyond the school years. Such efforts need to be further augmented with provisioning
of learning support system and reassessment of learning spaces.

Sub questions

Question Number : 146 Question Id : 87827024085 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

As per the text which of the formal education institutions can initiate a process of transformation
towards life long learning,

(1) School education

2) Higher education

3)  All school and higher education

4) None of the educational organization

(
[
(
Options :

87827095121. 1

87827095122. 2



87827095123. 3

87827095124. 4

Question Number : 147 Question Id : 87827024086 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

The need of initiating a process of internal reforms during educational organizations arises from
the fact that

(1) LLL institution approach education with a narrow perspective
(2) LLL institution adopt a methodology quite different in its pedagogy
(3) LLL institutions promotes distinctiveness

(4)  LLL institutions offer wider participation and redefine learning spaces
Options:

87827095125. 1

87827095126. 2

87827095127. 3

87827095128. 4

Question Number : 148 Question Id : 87827024087 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0
Which of the following is first step of initiative as per the text :
(1) Strong leadership
(2) Collaboration
(3) Associating with bigger purposes
(4) Evaluating the outcomes
Options:
87827095129. 1
87827095130. 2

87827095131. 3



87827095132. 4

Question Number : 149 Question Id : 87827024088 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

Any change in the premise of school education as per the text is about :
(1) Increasing learning opportunities within its basic scope

2)  Increasing learning opportunities extending beyond school years
) Reducing the learning opportunities
)

Burdening the learners

h]

(4
Options :

87827095133. 1
87827095134. 2
87827095135. 3

87827095136. 4

Question Number : 150 Question Id : 87827024089 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0
Purpose of initiating such reform, as per text is in the context of its staff is :
(1) Higher motivation
(2) Increased professionalisation
(3) Changes in evaluation
(4) Reducing the diversity
Options:
87827095137. 1
87827095138. 2
87827095139. 3

87827095140. 4



Question Id : 87827024084 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Question Numbers : (146 to 150)

Question Label : Comprehension
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Sub questions

Question Number : 146 Question Id : 87827024085 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options:

87827095121.1

87827095122. 2



87827095123. 3

87827095124. 4

Question Number : 147 Question Id : 87827024086 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options:

(
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87827095125. 1
87827095126. 2
87827095127. 3

87827095128. 4

Question Number : 148 Question Id : 87827024087 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options:

87827095129. 1



87827095130. 2
87827095131. 3

87827095132. 4

Question Number : 149 Question Id : 87827024088 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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Options :

(2
(3
(4
87827095133. 1
87827095134. 2
87827095135. 3

87827095136. 4

Question Number : 150 Question Id : 87827024089 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
T T8 % STTHR 319 FAE & Heol 1Y GUR TE F 61 3G ¢ -
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(4) Tafeaya o =m@

Options :



87827095137. 1
87827095138. 2
87827095139. 3

87827095140. 4



